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Question Number : 1 Question Id : 9277594018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

SNJ:QLH :: LAP: ?
Options :
1. ¥ JYN
2. % YR
3. % JXN
4. % IXN



Question Number : 1 Question Id : 9277594018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

SNJ:QLH :: LAP: ?
Options :
1. ¥ JYN
2. % IYR
3. % JXN
4. % IXN

Question Number : 2 Question Id : 9277594019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. = Calf
2. * Puppy
3. * Kitten
4. ¥ Deer

Question Number : 2 Question Id : 9277594019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ & T AT ai% I UM &1 gTiiey, U [Ahed 370 A9 &1 aRE 81 8| 39 A ey &1 T &3 i 370 T 3cT g |
Options :

1. % ddsl

2. % fUeen

3. % faaer

4. ¢ fgRul




Question Number : 3 Question Id : 9277594020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # BAC
2. % FEH
3. ®* TOW
4. ¥ LTE

Question Number : 3 Question Id : 9277594020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U i3 aRich 1 90 8 | gTallich, T [dahed o iF &1 TRE ol 6| 3% fAdhed &I Ia- B off 30 J 3T |
Options :

1. # BAC

2. * FEH

3. # TOW

4. ¥ LTE

Question Number : 4 Question Id : 9277594021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

NAOB, PAQB, RASB, .
Options :

1. ¥ SATB

2. % TASU

3. ¥ TAUB

4. % TABU



Question Number : 4 Question Id : 9277594021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad aR e o Q1

NAOB, PAQB, RASB, |
Options :

1. # SATB

2. % TASU

3. ¥ TAUB

4. % TABU

Question Number : 5 Question Id : 9277594022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

144, 288, 576, 1008, 1594, 2304, 3168
Options :
1. * 1008
2. % 1594
3. % 288
4. % 2304

Question Number : 5 Question Id : 9277594022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 173 g H TTAd UG 1 B |

144, 288, 576, 1008, 1594, 2304, 3168
Options :
1. % 1008




2. ¥ 1594
3. % 288
4. % 2304

Question Number : 6 Question Id : 9277594023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement:
G>W=U<T,;K<H<W

Conclusions:
I.T>H
II.G=K

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Either conclusion I or II follow
4. ¥ Both conclusion I and II follow

Question Number : 6 Question Id : 9277594023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gy T U Y four mar €, forges a1g 3 s 1 3fR 11 fAT T B 1 3mueh! 371 Sy &1 9 AT 7, Ul 8 I8 IrH=ad: 1d a9 fiyd
TdiId g1 3! I8 fuig o1 ¢ fos fau e el 8§ § & 91, afe ®is 81, df faU T &F T ¥ SR axal g |

hY:
G>W=U<T;K<H<W

fny:
I.T>H
II. G=K

Options :



1. ® PHad (hY [ 3R &Rl &
2. % Had (SHY 11 SR Hl §
3. % Ul fsHY 197 11 SR BT §
4. Y 1 3R 11 G SRRV Rl ©

Question Number : 7 Question Id : 9277594024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7,Y, X, W, V, and U have different heights. Two persons are either taller or smaller than V. W is taller than Z but not the tallest. Y is taller than
only U. If Z is taller than only two persons, then who is the tallest person?

Options :
1.% U
2.% 7
3. % W
4. ¥ X

Question Number : 7 Question Id : 9277594024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z,Y,X, W, V3R U D! AA-HT ST g S A T v A TR AT BN g1 W, Z T el 8 AfhT Iad da1 181 21 Y Had U A a1 B
gfe 7 Sad ol afeaal ¥ a1 8, df o el fad B 82

Options :

. % U

2. % 7

3. % W

4. ¥ X

Question Number : 8 Question Id : 9277594025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following are the criteria to recruit a HR Consultant in an organisation:



The candidate must

(a) be a graduate in any discipline with minimum 70% marks.

(b) be above 25 years and not above 30 years of age as on 01-01-2021.
(c) have done MBA in HR.

(d) have an experience of minimum three years in HR Department.

(e) be ready to be on probation for one year.

If a candidate satisfies all the criteria except

(1) at (c) above, but is a Commerce graduate with minimum 75% marks and has been working in HR department for at least last five years,
his/her case is to be referred to the General Manager.

(i) at (d) above, but has scored minimum 75% in post graduation (MBA-HR) and has a minimum of two years of experience in HR, his/her case
is to be referred to the Director.

In question below, details of a candidate are provided. You have to take one of the following courses of action based on the information provided
and mark the number of that course of action as your answer.

You are not to assume anything other than the information provided in each question. All these cases are given to you as on 01-07-2021.

Ramesh is a commerce graduate with 76% marks and has completed MBA in HR. He was born on 01-04-1994 and has four years’ experience as
a Senior HR Manager. He is ready to join on one-year probation.

Options :

1. ¥ The candidate is selected.

2. # The candidate is to be referred to the General Manager.
3. # The candidate is to be referred to the Director.

4. % The candidate is not selected.

Question Number : 8 Question Id : 9277594025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TG | HR JATGHR BT Hdl & fore AFcs Fufeiad §:

SR &I

(a) <LATH 70% 3fehl & 1Y Tt +ff fawg & arcdh g AUl

(b) 01-01-2021 T 25 T F HUR 3R 30 Y F HW &1 Il g1 AR
(c) HR ¥ MBA f&u g1 =i

(d) HR faUTT & =g7dq® &9 a¥ &1 g1 a1feu|

(e) U Ty o forq GRate TR X8 & fad IR gH1 31|

g g SHiigar It AFCS! & IR ol 7, Rar



(i) SR () TR, A LATH 75% 3P| & 1Y dTod JAH g AR HH W HH [USd Ui a8 § HR fTHRT T S HR T 5, 3BT HAHa
TSt Pl Yedid T ST B |

(if) STRIE (d) TR, AT AABITR (MBA-HR) T AqH 75% UK fohl 8 3R HR T AqH &1 T8 BT 3Hd &, IUPH1 AHAT (= B
effd fu ST B

9 feu e Uy ¥, T Infigar &1 faavul faar T § | Sus! SR & 718 oHeR] & YR R FHafafed & 3 ts SRars &1 vH a1 §
3R I HRATS P HH B! BT B! 30U IR &b ¥ H Rgd BT 8|

3T AP UY & & 75 STHHRI o Ad $& Hf T8 A1 8 | 3 Tt A1 SUeh! 01-07-2021 T & 4T W G|

T 76% 3feh! & WIY ATV D § AR 39 HR H MBA TR 101 § | IHHT ST 01-04-1994 B §3MT AT 3R 3 IRT HR TEUH & =4
A IR 99 H1 3Hd |1 98 Ue a¥ o uRdien )R fged 819 & forg dar g

Options :

1. ¢ JuiicdR &1 9o fear mar g

2. % IICaR P HEWEY® &) Tefid fHar s 8|

3. % JWICdR P AP P Yefid ferar ST g |

4. % IUfCIR &1 IuH gl fpar AT g |

Question Number : 9 Question Id : 9277594026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A software company has decided to recruit engineers. The following criteria is to be applied. A candidate must

(1) be an engineering graduate with at least 70% marks in graduation and 80% marks in HSC.

(i1) have work experience of minimum 2 year.

(i11) be ready to sign a bond of three years.

(iv) not be more than 25 years and not less than 22 years as on 1.7.2021.

However, if the candidate fulfils all the above criteria except

(a) (1), but has obtained 85% in HSC and has at least three years experience of working, the case may be referred to the Director.

(b) (i11), but 1s willing to pay an amount of 2 lakh, if he is required to leave- the case may be referred to the HR.

In question below, details one candidate are given. You have to take one of the following courses of action based on the information provided and
mark the number of that course of action as your answer. The reference date is 1.7.2021.

Kaushal is a Software Engineer and has been working as an Assistant Engineer for the past three years. He had scored 68% and 85% marks in
graduation and HSC respectively. He has just completed 25 years of age. He is ready to sign a bond of three years.

Options :
1. # The candidate is to be selected.



2. * The candidate is not to be selected.
3. % The case is to be referred to the Director.
4. * The case is to be referred to the HR.

Question Number : 9 Question Id : 9277594026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TP daqR S = TGSl B Helf B o1 Fofa fern g1 Ffeiad ardst ot an] fasan s g | T Snfigar &

(i) FTdH T TATH 70% 3 3R HSC T 80% (| & 1Y IS Hide g dTfeu|

(i) “gAqH 2 IY BT B SHT 7|
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Options :

1. % IufiedR &1 9o fhar ST B |

2. % IWiCaR &1 9o el fhar ST 8 |

3. ¢ Al FeRe &l Yefid frar ST g |

4. % HHAT HR S Hafid far S g |

Question Number : 10 Question Id : 9277594027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the given series:

100, 221, 77, 246, 50,



Options :
1. % 245
2.9 275
3. % 265
4. % 255

Question Number : 10 Question Id : 9277594027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TS I H qud e I B
100, 221, 77, 246, 50,

Options :
1. % 245
2.9 275
3. % 265
4. % 255

Question Number : 11 Question Id : 9277594028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following question is based on the five three-digit numbers given below.

513 485 625 724 541

If 2 is added to the last digit of each number and then the positions of the first and the third digits are interchanged, which of the following will be
the highest number?

Options :
1. ® 513
2.9 485
3. % 625
4. % 724

Question Number : 11 Question Id : 9277594028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad vy = fow 7u v d9-siwiy e wR SneiRd ]|

513 485 625 724 541

g U T & 3ifqH 3icp T 2 ol a1 STw 3R bR Ugdt 3R R 3ich & R &) MU H sed fear o, ot FRafafad § @ e
Ty Fo! =T gHIT?

Options :

1. % 513

2. ¥ 485

3. % 625

4. % 724

Question Number : 12 Question Id : 9277594029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each of the odd digits in the number 6482437 is increased by '1' and each of the even digits is decreased by '2', then which of the following will
be the sum of the digits of the number?

Options :
1. = 27
2.9 26
3. % 28
4. % 3]

Question Number : 12 Question Id : 9277594029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe TS 6482437 H UAD vy 36 o1 '1' T TSI 11 § 3R TAS IH 3 B 2’ J YT 91dT &, a1 Fufoiad § ¥ &5 91 9 &
3fehl T I GHTI?

Options :

1. % 27

2.9 26

3. % 28

4. % 31



Question Number : 13 Question Id : 9277594030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to the photograph of Neha, Nikhil said, "Her mother's father's son's wife is my mother-in-law's only daughter". How is Nikhil related to
Neha's mother?

Options :

1. # Paternal uncle

2. % Paternal grandfather
3. % Brother

4. % Maternal uncle

Question Number : 13 Question Id : 9277594030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ@aﬁ%ﬁ?ﬁ 3R SIRT Hd gL, FARIA 7 g1, "I A1 & U1 & T &1 Ut TR I &1 Shara aet o | FAfad, Ae1 &1 7rar 9
Tefid g2

Options :
1. # =l
2. % qlal
3. ¥ g

4. % HMHT

Question Number : 14 Question Id : 9277594031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,R,D, I, S, and T are sitting around a circular table facing away from the circle. A does not sit adjacent to I and T. B does not sit adjacent to
A. R sits fourth to the left of A. D and B sit adjacent to each other. T sits second to the left of I. Who sits exactly between T and A ?

Options :
1.* B
2. % R
3.%D
4. ¥ S



Question Number : 14 Question Id : 9277594031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,R,D, LS, 3R TTH T F AR IR JA P AR Y TE IRF 65| A, R TH T H 81 9ol &1 B, A P I | ol ol g
R,A%Wﬁﬁﬁ%ﬁ%Daﬁvazﬁiéwﬁ%%lT,I%&T'Qﬁgﬂ%wméa%wsﬁ“{/x%&w S H B 931 8?
Options :

l1.* B

2. % R

3.%D

4.9 S

Question Number : 15 Question Id : 9277594032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arti deposited equal sum of money in two different banks, one at compound interest, compounded annually and the other at simple interest, both
at 10% per annum. If after two years, the difference in the amounts comes to Rs. 400, what are the amounts deposited with each bank?

Options :

1. ¥ Rs. 20000
2. % Rs. 40000
3. % Rs. 45000
4. % Rs. 50000

Question Number : 15 Question Id : 9277594032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR A G SEHT-SET ST H THH AFA STHT P, Th B Iehgle ST, AP Ashgfe UR 3R GURT ! ATYRUT TSI TR STHT BT, ST 10%
i 9 @t aR T ST foban| afe 31 auf & a1e, AR H 3R 400 FUT BT €, YD S H {1 iR w71 1 718 82

Options :

1. % 20000 ¥UT

2. ¥ 40000 3T

3. % 45000 39T




4. % 50000 24UUq

Question Number : 16 Question Id : 9277594033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



Question Number : 16 Question Id : 9277594033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3T H A, I AP Tal T Ig B o Uy 3pfa i afzRa g

Options :



Question Number : 17 Question Id : 9277594034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

2.¥



Question Number : 17 Question Id : 9277594034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT a5 I UM &1 gy, T [Ahed 370 diF &1 aRE 81 8| 39 ey o1 T &3 off 37 T 3T g |

Options :

2. ¥



Question Number : 18 Question Id : 9277594035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the correct mirror image of the given figure?

Options :



1.v

3. %



Question Number : 18 Question Id : 9277594035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe; Teb TN BT ¥GT AB TR 3T W1l &, dl ITR 3M1pfa H J B Tt & 77 3fipfa o) It e 33 32

Options :

1. ¢



Question Number : 19 Question Id : 9277594036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, 'Group A' represents those who study 'Physics', 'Group B' represents those who study 'Chemistry' and 'Group C'
represents those who study 'Biology'. The number given in the diagram represents the member of persons of that particular category.

How many persons study exactly two subjects?



Options :
1. % 21
2. % 12
3.4 18
4. %3

Question Number : 19 Question Id : 9277594036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o s o, qHg A' 39 ANl &1 Ufafiferc oxar g S it &1 3108 $Rd &, U B' 3 Al &I Ui Bl § off
TG I BT 31e99 Hd & IR GHE C' 39 Al BT UfAfATI dal § S 'Siia faq &7 3100 xd g | 3T H 41 T8 U= 39
a2y avf & ufaaal & Tew o1 guiid 81

foam aafad 3l o fawal &1 3reqg od 82

Options :
1. ® 21
2. % 12
3.4 18
4. % 3

Question Number : 20 Question Id : 9277594037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three different positions of the same dice are given below. Which symbol is on the face opposite to face showing '@'?

Options :
1. % #
2. % %
3. % |

4. ¥

Question Number : 20 Question Id : 9277594037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH &1 U &1 oA fafe fufert <1 € 78 €1 '@ <21 aTel hae o i RUd hadh IR 1 11 g 82

Options :
1. % #
2. % %
3. % |

4.4

General Awareness
Group Number : 2

Group Id : 92775989
Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 927759105
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759125
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277594038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SwabSeq is related to the corona virus, it is a:
Options :

1. % Vaccine

2. % A testing platform

3. * Mini testing kit

4. * Preventive medicine

Question Number : 21 Question Id : 9277594038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
WIS BT IGY BRI IRY U 8, T8 8-
Options :

1. % Sl

2. ¢ T QI H

3. % o oferur fobe

4. % f99RSD gar

Question Number : 22 Question Id : 9277594039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of August 2021, who is the Lieutenant Governor of Delhi?
Options :

1. # Shri P.S. Sreedharan Pillai

2. % Anil Baijal

3. % Bhagat Singh Koshyari

4. ¥ Najeeb Jung

Question Number : 22 Question Id : 9277594039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2021 T IUAK BRI & IR , Gt & SURTSIUTA DI 82
Options :

1. % it wg. ferq Oes
2. ¢ AT aoId

3. % yid Rig drury

4. ® ol ST

Question Number : 23 Question Id : 9277594040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The third battle of Panipat was fought between:

Options :

1. # Samrat Hem Chandra Vikramaditya, popularly called Hemu and Akbar
2. ® Maratha Empire and Akbar

3. % Babur and the Lodi Empire

4. ¥ Maratha Empire and Ahmad Shah Durrani

Question Number : 23 Question Id : 9277594040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHIUd &1 dRRT g (9 o o ST TR s

Options :

1. % gHIe 71 9% fammiied, f5s el U 4 89 3R {6k Hel oldl §
2. % TRTST YT 3R 3HaR

3. % SR 3R et IrHy

4.« TRIG] YUY 3R 3gHS M8 gt

Question Number : 24 Question Id : 9277594041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the Battle of Plassey?

Options :

1. ¥ Akbar

2. ® Siraj al-Dawla

3. ¥ Robert Clive

4. ¥ Babur

Question Number : 24 Question Id : 9277594041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA 61 g farge Sitar?

Options :



1. ® 3heR

2. % RRI Srd-arel
3. ¢ JqC FARd

4, ® dldX

Question Number : 25 Question Id : 9277594042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum age limit to be a Lok Sabha candidate?
Options :

1. ¥ 25 years

2. # 45 years

3. % 30 years

4. % 35 years

Question Number : 25 Question Id : 9277594042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHTHT SHIGAR F9- & 1T —gaH TG 1 .1 82
Options :

1. 25TY
2. % 4594
3. % 3099
4. % 3594

Question Number : 26 Question Id : 9277594043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article 14 is related to:

Options :

1. % Right against exploitation



2. % Right to equality
3. % Right to property
4. # Right to freedom of religion

Question Number : 26 Question Id : 9277594043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3w 14 g 4 Fafta 8

Options :

1. % MY & AT HfABR

2.« HF BT HfYBR

3. % Uit T fYBR

4. % YT B WG] B DR

Question Number : 27 Question Id : 9277594044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, National Sports Day is celebrated on which day?
Options :

1. % 19th August

2. % 9th August

3. % 15th August

4. % 29th August

Question Number : 27 Question Id : 9277594044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR H, 81T Wet e fod fo A el 82
Options :

1. % 19 3

2. % 9 3Id



3. % 15 3HTRd
4. % 29 3

Question Number : 28 Question Id : 9277594045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Last, in which year India won the Cricket World Cup?
Options :

1. % 2011

2. % 2015

3. % 1995

4. % 2019

Question Number : 28 Question Id : 9277594045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R IR, YR A forg oy H fobdbe fay &y St U1
Options :

1. ¥ 2011

2. % 2015

3. % 1995

4. % 2019

Question Number : 29 Question Id : 9277594046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Jnanpith award is given in which of the following field?
Options :

1. % Best direction in short Hindi films

2. ¥ Best creative literary writing

3. % Best direction in regional films

4. ¥ Best paintings



Question Number : 29 Question Id : 9277594046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHOe IR FHafeied & 9 forg & & fear Srar g2
Options :

1. % g &< fpet & Ty Adzm

2. ¥ FAIY TIHIHSD i fAD g

3. % &y el § a9y dem

4. % gAYy UfeT

Question Number : 30 Question Id : 9277594047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a writer?
Options :

1. # Chetan Bhagat

2. % Magbool Fida Husain

3. % Ruskin Bond

4. ® Arundhati Roy

Question Number : 30 Question Id : 9277594047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed & 9 3 des T8l o7
Options :

1. % I HITd

2. ¢ AHYd el g

3. % P U8

4, % 3R¥YFA I



Question Number : 31 Question Id : 9277594048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the second-highest mountain on Earth?
Options :

1. #* Mount Everest

2. % Altai Mountains

3. ¥ K2

4. % Hindu Raj

Question Number : 31 Question Id : 9277594048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt TR GIRT e Ha1 Udd 1 11 82
Options :

1. % TaRC Udd

2. % 3fcdls Udd

3. ¥ K2

4. % fgg e

Question Number : 32 Question Id : 9277594049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The approximate height of the World's highest mountain "Mount Everest" is:
Options :

1. # 8,600.00m

2. % 8,800.86 m

3. % 8,748.76m

4. ¥ 8,848.86m

Question Number : 32 Question Id : 9277594049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fa% & TaY 3d Tdd "TaRE Uad” & AiFde SHTS 6:
Options :

1. % 8,600.00m

2. % 8,800.86 m

3. % 8,748.76m

4. ¥ 8,848.86m

Question Number : 33 Question Id : 9277594050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently, the RBI announced individuals and businesses can opt for loan restructuring options for up to Rs 25 crore dues under which
framework?

Options :

1. # Resolution framework 1.0
2. ¥ Resolution framework 2.0
3. # Resolution framework 3.0

4. % Resolution framework 4.0

Question Number : 33 Question Id : 9277594050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%’Wé’fﬁ, RBI 7 90T &1 fob aafad SR saaumd o ThHads & d8d 25 HRIS SUT A & HUI Ji6 [adhed b f[ddhed &I 9g- o Tdhd
?

Options :

1. % YHIIRE HhHID 1.0
2. ¢ IR HHAD 2.0
3. % AR HHA 3.0
4. % TR HHAD 4.0

Question Number : 34 Question Id : 9277594051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which type of soil is the most fertile?
Options :

1. # Red soils

2. % Porous loamy soils

3. # Sand soils

4. % (Clay soils

Question Number : 34 Question Id : 9277594051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 TR 1 YaT Tay 31 IUSS; Bt 82
Options :

1. % IeT Hal

2. ¢ SRERT ST Fal

3. % S8 Hal

4. % HRIDT Al

Question Number : 35 Question Id : 9277594052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ozone layer is the common term for the high concentration of ozone that is found in the around 15-30km above the earth’s
surface.

Options :

1. # troposphere
2. ¥ stratosphere
3. % mesosphere

4. # thermosphere

Question Number : 35 Question Id : 9277594052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SIS IR 3l D1 I AiGdl o ol T X 8 Sf Gt DI Aclg F TIHT 15-30 km IR o U ST g |
Options :

1. % efydsd

2. ¢ gHAUHS A

3. % ggHsd

4. % dqUHsd

Question Number : 36 Question Id : 9277594053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently, Union Health Minister Harsh Vardhan gave news about the FELUDA paper strip test, this test strips will be used to diagnose:
Options :

1. % HINI

2. % SARS-CoV-2

3. # Japanese encephalitis

4. % Dengue fever

Question Number : 36 Question Id : 9277594053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 g1 §, e Wy 4l g9t § FELUDA TR g0 ¥ & R § WeR &, 39 X R &1 Iudi 9 & g & forg fovan S
Options :

1. ¥ HINI

2. % SARS-CoV-2

3. % S ARTSDRIY

4. % SIER

Question Number : 37 Question Id : 9277594054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vaccine for Covid -19 was developed by the Bharat Biotech in collaboration with the Indian Council of Medical Research (ICMR) - National
Institute of Virology (NIV), which vaccine is this?



Options :

1. # Covishield
2. % Moderna
3. % Covaxin
4. # Sputnik V

Question Number : 37 Question Id : 9277594054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ@ﬁ&ﬁ%ﬁm&aﬁmw-Wﬁwww%mﬂﬁwa@%mﬁﬁg-w%mﬁmﬁwmwmEr‘s’
) ?

Options :

1. % plfqics
2. % greAf

3. ¥ DIdaH
4. % HAF® v

Question Number : 38 Question Id : 9277594055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarter of the International Criminal Court (ICC) is located in:
Options :

1. ¥ Netherlands

2. # Japan

3. % Pakistan

4. # India

Question Number : 38 Question Id : 9277594055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITRRTFIT SIRTY T T AT U &



Options :

1. ¢ fexcls
2. % 4

3. % Uifh&d™
4, % HRd

Question Number : 39 Question Id : 9277594056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the former Presidents was awarded Bharat Ratna recently?
Options :

1. # Giani Zail Singh

2. ¥ Pranab Kumar Mukherjee

3. % Sarvepalli Radhakrishnan

4. % A.P.J. Abdul Kalam

Question Number : 39 Question Id : 9277594056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1ol &1 H b gd yufd 1 WRd Xd A g fobam
Options :

1. % g o Rig

2. ¢ TU AR JE6if

3. % gaufed JUTHOH

4. % T O 9. 3fegd A

Question Number : 40 Question Id : 9277594057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Legendary actor breathed his last in July 2021 after a long illness?
Options :



1. # Rinku Singh Nikumbh
2. # Raj Kaushal
3. #* Irrfan Khan
4. ¥ Dilip Kumar

Question Number : 40 Question Id : 9277594057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fory AT ST = dell SHURT & a8 JaiTs 2021 T Sifaw 4 ferm

Options :
1. % R Rig Ay
2. % IS DINA
3. % X WH
4. ¢ fadiiU AR
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Question Number : 41 Question Id : 9277594058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number 9876X3 is divisible by 3. What are the possible values of X?
Options :

1.4 0,3,6,9

2. % 36,9

3. %69

4. % 0,3,6

Question Number : 41 Question Id : 9277594058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U1 9876X3, 3 W faUTS g1 X & HHTIAd T F1 87
Options :

1.4 0,3,6,9

2. % 3,69

3. %69

4. % 03,6

Question Number : 42 Question Id : 9277594059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the product of: 0.03x0.0003x3x0.00003x0.3
Options :

1. ¥ 0.000000000243

2. % 0.00000000243

3. % 0.0000000000243

4. % 0.0000000243

Question Number : 42 Question Id : 9277594059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl R %z 0.03%0.0003%x3%0.00003%0.3
Options :

1. ¥ 0.000000000243

2. % 0.00000000243

3. % 0.0000000000243

4. % 0.0000000243

Question Number : 43 Question Id : 9277594060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:
(5/7%2/3%9/8%3/4xT7/9)/(8/5%6/Tx7/8%5/T)
Options :
1. ¥ 0.36
2. % 0.30
3. % 0.35
4. % 0.37

Question Number : 43 Question Id : 9277594060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(5/7x2/3x§'x3/4x7/9)/(8/5x6/7x7/8x5/7)
Options :
1.¢ 036
2. % 030
3. %035
4. % 037

Question Number : 44 Question Id : 9277594061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest number that leaves a remainder of 7, 17 and 23 when divided by 12, 22 and 28?
Options :

1. ¥ 1843

2. % 1834

3. % 1438

4. % 1483

Question Number : 44 Question Id : 9277594061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 oY BT GBI 1 g Sl 12, 22 3R 28 J FAHIRG A WR 7, 17 3R 23 AU SISl 82
Options :

1. ¥ 1843

2. % 1834

3. % 1438

4. % 1483

Question Number : 45 Question Id : 9277594062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are in the ratio 5:7 such that their LCM is 175. Find the HCF of those numbers.



Options :
1.¥5
2. % 4
3.%3
4, % 2

Question Number : 45 Question Id : 9277594062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& /N 5:7 & SIATd H S0 UHR g b ST Tgad FHGaA® 175 & | 3 GBS &1 Hgad FHadd J1d d |
Options :

1.¥5

2.% 4

3.%3

4.% 2

Question Number : 46 Question Id : 9277594063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P =64, Q=2 and R =4. If P varies directly as the square of Q and inversely as the square of R then what is the value of P for Q =4 and R = 8?
Options :

1. ® 36

2. % 16

3.9 64

4. % 63

Question Number : 46 Question Id : 9277594063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P=64,Q=23RR=4|TEP, QP I & ®UH SIHAIUN fF § R R & aFf &b ¥U & b A8 dl Q=4 AR R =8 & fau p
&1 T &1 82
Options :




1. # 36
2. % 16
3.¥ 64
4. % 63

Question Number : 47 Question Id : 9277594064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 81x2-126xy+49y? = 0 then find the ratio of y:x.
Options :

1. ®* 7:9

2.9 9.7

3. % 87

4. % 78

Question Number : 47 Question Id : 9277594064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 81x2-126xy+49y> = 0 Al y:x BT SIUTd JTd PR |
Options :

1. ® 7:9

2.9 9.7

3. % 87

4. % 78

Question Number : 48 Question Id : 9277594065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town is 78960000. If it increases at a rate of 8% p.a. then what is the population after 2 years?
Options :

1. ¥ 92098449

2. % 92098494



3. % 92098495
4. % 92098944

Question Number : 48 Question Id : 9277594065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR B SFRREAT 78960000 & | T T Ul I 8% BT &R A Fgelt 71 M 2 af qIg ST &1 82
Options :

1. # 92098449

2. % 92098494

3. % 92098495

4. ¥ 92098944

Question Number : 49 Question Id : 9277594066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A's salary is 17% more than of B's salary then how many percent is B's salary less than A's?
Options :

1. ¥ 14.53%

2. % 13.0%

3. % 14.0%

4. % 15.0%

Question Number : 49 Question Id : 9277594066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A BT AT B & da U 17% 3P § dl B BT dd- A & da- J foba- Tia=Id &H g7
Options :

1. ¥ 14.53%

2. % 13.0%

3. % 14.0%



4. % 15.0%

Question Number : 50 Question Id : 9277594067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the average of 4 consecutive even numbers is 55 then what is the largest number?
Options :

1. # 50

2. % 52

3.9 58

4. % 54

Question Number : 50 Question Id : 9277594067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 4 AT GH GBATSH BT 3N 55 3 ) I Tt T-AT R 82
Options :

1. ® 50

2. % 52

3. ¥ 58

4. % 54

Question Number : 51 Question Id : 9277594068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man plays 21 innings of cricket. The average runs of 21 innings is 4 runs more than the average runs of 20 innings. He scored 95 runs is 21
innings. What is the average of all the innings?

Options :
1.¥ 15
2. % 51
3. % 14
4. % 50



Question Number : 51 Question Id : 9277594068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Us Afdd fpdbe @1 21 Tkt @dar g1 21 TR &7 3Td I 20 UTRTT & 3NTd T T 4 39 31 31 3T 21 Uil H 95 39 91Q | I+
UTREY T 3Td &7 82

Options :

1. 15

2. % 5]

3. % 14

4. % 50

Question Number : 52 Question Id : 9277594069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper increased the price of an article by Rs. 1710. He made a profit of 6% instead of making a loss of 13%. What is the cost price of the
article?

Options :

1. % Rs. 9540
2. % Rs. 9000
3. ¥ Rs. 9500
4. % Rs. 9300

Question Number : 52 Question Id : 9277594069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh GHIAR A Ueb TG o Hed H 1710 TUT B1 i B I 13% 1 BT b SIS 6% b1 < 1Tl febaT | g T ATl el 1 82
Options :

1. % 9540%UQ

2. % 9000 ¥Uq

3. % 9500 %4

4. % 9300 >UU




Question Number : 53 Question Id : 9277594070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P sells to Q an article at 15% profit. Q sells it to R at 20% loss. R sells it to S at 25% profit and finally T receives it at 320896 were S makes 9%
profit. What is the amount that P paid for it?

Options :

1. % Rs. 2560
2. % Rs. 25600
3. ¥ Rs. 256000
4, ® Rs. 256

Question Number : 53 Question Id : 9277594070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q B! 15% ATH TR TP a¥d 99T 8| Q TH R B 20% BT IR ST &1 R TU S Bl 25% TTH TR 99T § 3R 3fd T T 3 320896 H YT &l
8 T8I S, 9% TTH Hfofd AT & | P ¥ 39 forg fara1t 1fR T Y fosam

Options :

1. % 2560 ¥UY

2. % 25600 ¥UT

3. ¢ 256000 TUYT

4. % 256300

Question Number : 54 Question Id : 9277594071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The shopkeeper marked a good at 34% over it's cost price. After that he gave a 40% discount. Did he make a loss? What is the percentage of such
profit or loss?

Options :
1. % 20%
2. % 19%
3.9 19.6%



4. % 18%

Question Number : 54 Question Id : 9277594071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wagﬁamaqmﬁw% 31 TR U a%q HT [qUUH FHRlT § | SHD 918 ST 40% PI e a1 | 1 39 B1 g2 TY 1Y 1 g1
=T &1 52

Options :
1. * 20%
2. % 19%
3.9 19.6%
4. % 18%

Question Number : 55 Question Id : 9277594072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Rs. 700000 becomes Rs. 824057.5 in sometime at 8.5% p.a. then what is the duration for which the sum has been compounded (in years)?
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 55 Question Id : 9277594072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 700000 YT & THI F Ul I8 8.5% TR 824057.5 TUT G &4 & o) I8 3rafe o § R g I =gl P e € @ & )
Options :

1. %1

2.9

3.% 3

4. % 4




Question Number : 56 Question Id : 9277594073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of spheres of radius 1.4 cm that can be made from a big sphere of diameter of 42 cm.
Options :

1. ¥ 3375

2. % 3357

3. % 3573

4. % 3753

Question Number : 56 Question Id : 9277594073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.4 cm 30T & M &1 T 1T B S 42 om Y & TH 98 M J F17 S IHaT 3 |
Options :

1. ¥ 3375

2. % 3357

3. % 3573

4. % 3753

Question Number : 57 Question Id : 9277594074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q can do a work in 6 days. Q and R can do the same work in 8 days while R and P can do it in 10 days. They did the work for 3 days and
then P left. How long will Q and R take if they work together?

Options :

1. # 3 days
2. % 3.1 days
3. % 3.2 days
4. ¥ 3.3 days



Question Number : 57 Question Id : 9277594074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R QUH B &l 6 feAI H HR D &1 Q 3R R I BRI & 8 fai T 5 bl & Tafb R 3R p SH &1 BT 10 A H % Ihd B |
Il 3 fat & foru oo fpam 3R bR P =r@T 7M1 Q IR R 1 Ueh 1Y & o6v | fbred=1 T/ aonmmo

Options :
1. % 3feT
2. % 31T
3. % 32T
4. ¢33

Question Number : 58 Question Id : 9277594075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains that are 125m long and 150m long are travelling towards each other at the parallel tracks. The speed of the trains are 50kmph and
60kmph. How many seconds will it take for the trains to cross each other?

Options :

1. ¥ 9 secs

2. % 10 secs
3. % 6 secs

4. % 5secs

Question Number : 58 Question Id : 9277594075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

125 m A& 3R 150 m Tl &1 IS THMHIGR TRl IR Th-gaR &1 3R I R Tg! ¢ | TSl &t 7T 50kmph3iR 60kmph B
YIS B T GIR B UR DR H fba dabg ol

Options :

1. ¥ 9qDHs

2. % 10 Yobg

3. % 6 dbg

4. % 5YDhg




Question Number : 59 Question Id : 9277594076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tables shows the sales of different kinds of batteries in different years. Which type of battery has the highest average sales?

Type of Batteries
Year
4AH (IN LAKHS) | 7AH (IN LAKHS) | 32ZAH(IN LAKHS) | 35AH (IN LAKHS)
2013 110 93 95 o0
2014 133 139 139 128
2015 142 20 83 151
2016 75 137 90 147
2017 107 141 119 133
Options :
1. ¥ 4AH
2. % 7AH
3. ¥ 32AH
4. ¥ 35AH

Question Number : 59 Question Id : 9277594076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

drferet fafts auf & fafie R @) defval o fow! 3 guiidar 3| {5y UeR &t 9ed) o1 3id faw! T 31fde 82

- it s aen
aaH (@@ H) [7aH (FTETH) |3zanEm@l H) [3san (@G H)
2013 110 a3 a5 99
2014 133 139 139 128
2015 142 80 B3 151
2016 75 137 a0 147
2017 107 141 119 133

Options :



1. # 4AH
2. % 7AH
3. ¥ 32AH
4. ¥ 35AH

Question Number : 60 Question Id : 9277594077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The data pertaining to the production of motorbikes in India is represented in the graph. What is the contribution of CBZ in terms of the
percentage of total production in year 2017 and 2018?

CEBZ W Pulsar ®Yamaha
AN 27465 28268
- 25732 i 25157
£ 23000 - SEENE "
=1
E — 21314 21339
e 20000 -+ 7 17883
& 16680
(=]
E 15000 13769 12873
=]
— 11522 11887
i aDEZE 1012 : —
=§ 10000 - 1 —
a
5000 -
0
2015 2016 2017 2018 2019 2020
Year
Options :

1. % 37.31%, 28.11%
2. ¥ 37.31%, 28.10%
3. % 37.31%, 28.12%
4. % 37.30%, 28.10%

Question Number : 60 Question Id : 9277594077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HN%ﬁ ISR D! & TG U &I ST B JH H ST T g1 T8 2017 3R 2018 H Hot IdTGA & UfA=d & U & CBZ &1 ATGH
R 8?
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Options :

1. % 37.31%, 28.11%
2. ¥ 37.31%, 28.10%
3. % 37.31%, 28.12%
4. % 37.30%, 28.10%
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Question Number : 61 Question Id : 9277594078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The extravagant emphasis having laying on purely / intellectual education and the consequent neglect of physical training must / necessarily lead
to depressing thoughts in the youth.

Options :

1. ¥ The extravagant emphasis having laying on purely

2. # intellectual education and the consequent neglect of physical training must
3. % necessarily lead to depressing thoughts in the youth.

4. % No Error

Question Number : 61 Question Id : 9277594078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The extravagant emphasis having laying on purely / intellectual education and the consequent neglect of physical training must / necessarily lead
to depressing thoughts in the youth.

Options :



1. ¥ The extravagant emphasis having laying on purely

2. # intellectual education and the consequent neglect of physical training must
3. # necessarily lead to depressing thoughts in the youth.

4. ® No Error

Question Number : 62 Question Id : 9277594079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

See, its the punching people in the face / that's the problem, not the anger; anger / is merely the messenger.
Options :

1. ¢ See, its the punching people in the face

2. % that's the problem, not the anger; anger

3. # is merely the messenger.

4. % No Error

Question Number : 62 Question Id : 9277594079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

See, its the punching people in the face / that's the problem, not the anger; anger / is merely the messenger.
Options :

1. ¥ See, its the punching people in the face

2. % that's the problem, not the anger; anger

3. # is merely the messenger.

4. ® No Error

Question Number : 63 Question Id : 9277594080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Why do all this talk of hedgehogs) and foxes have to do with good to great?
Options :

1. ¥ Why does all this talk of hedgehogs

2. ¥ What do all these talk of hedgehogs

3. ¥ What does all this talk of hedgehogs

4. ® No correction required.

Question Number : 63 Question Id : 9277594080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Why do all this talk of hedgehogs) and foxes have to do with good to great?
Options :

1. ¥ Why does all this talk of hedgehogs

2. % What do all these talk of hedgehogs

3. % What does all this talk of hedgehogs

4. ® No correction required.

Question Number : 64 Question Id : 9277594081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Building a culture surrounding all idea of freedom) and responsibility, within a framework.
Options :
1. # Building cultures commiting around all ideas of freedom

2. % Build a culture around the idea of freedom



3. # Built a culture around all idea of freedom

4. # No correction required.

Question Number : 64 Question Id : 9277594081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Building a culture surrounding all idea of freedom) and responsibility, within a framework.
Options :

1. #¥ Building cultures commiting around all ideas of freedom

2. % Build a culture around the idea of freedom

3. % Built a culture around all idea of freedom

4. # No correction required.

Question Number : 65 Question Id : 9277594082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The whole party system as it had existed was not the kind of face that can restore the German nation or repair the damages.
Options :

1. ¥ hitherto

2. # scantily

3. # sacramentally

4. *® institutionally

Question Number : 65 Question Id : 9277594082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



The whole party system as it had existed was not the kind of face that can restore the German nation or repair the damages.
Options :

1. % hitherto

2. % scantily

3. % sacramentally

4. # institutionally

Question Number : 66 Question Id : 9277594083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best words to complete the sentence.

These values are and and engage you with the world as it is rather than how you wish it were.

Options :

1. # increasingly and abundant
2. ¥ immediate and controllable
3. % rich and sacrifice

4. ® superstitious and clarifying

Question Number : 66 Question Id : 9277594083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best words to complete the sentence.

These values are and and engage you with the world as it is rather than how you wish it were.

Options :

1. # increasingly and abundant
2. ¥ immediate and controllable
3. % rich and sacrifice

4. ¥ superstitious and clarifying

Question Number : 67 Question Id : 9277594084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Basketball is a team sport

P. opposing one another on a rectangular court,

Q. in which two teams, most commonly of five players each,

R. compete with the primary objective of shooting a basketball through the defender's

S. hoop (a basket 18 inches in diameter mounted 10 feet high to a backboard at each end of the court)

while preventing the opposing team from shooting through their own hoop.
Options :

1. ¥ QPRS

2. % SRQP

3. % PSRQ

4. % RQSP

Question Number : 67 Question Id : 9277594084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Basketball is a team sport

P. opposing one another on a rectangular court,

Q. in which two teams, most commonly of five players each,

R. compete with the primary objective of shooting a basketball through the defender's

S. hoop (a basket 18 inches in diameter mounted 10 feet high to a backboard at each end of the court)

while preventing the opposing team from shooting through their own hoop.



Options :

1. ¥ QPRS
2. % SRQP
3. ¥ PSRQ
4. % RQSP

Question Number : 68 Question Id : 9277594085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Cricket is a bat-and-ball game played between two teams of eleven players on a field at the centre of which is a 22-yard pitch with a wicket at
each end, each comprising two bails balanced on three stumps.

P When ten batters have been dismissed, the innings ends and the teams swap roles.

Q. Means of dismissal include being bowled, when the ball hits the stumps and dislodges the bails, and by the fielding side either catching the
ball after it is hit by the bat and before it hits the ground, or hitting a wicket with the ball before a batter can cross the crease in front of the
wicket.

R. The bowling and fielding side tries to prevent this and dismiss each batter (so they are "out").
S. The batting side scores runs by striking the ball bowled at the wicket with the bat.

The game is adjudicated by two umpires, aided by a third umpire and match referee in international matches.
Options :

1. % RSPQ

2. % PRQS

3. ¥ SRQP

4. % QRSP

Question Number : 68 Question Id : 9277594085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Cricket is a bat-and-ball game played between two teams of eleven players on a field at the centre of which is a 22-yard pitch with a wicket at
each end, each comprising two bails balanced on three stumps.

P When ten batters have been dismissed, the innings ends and the teams swap roles.

Q. Means of dismissal include being bowled, when the ball hits the stumps and dislodges the bails, and by the fielding side either catching the
ball after it is hit by the bat and before it hits the ground, or hitting a wicket with the ball before a batter can cross the crease in front of the
wicket.

R. The bowling and fielding side tries to prevent this and dismiss each batter (so they are "out").
S. The batting side scores runs by striking the ball bowled at the wicket with the bat.

The game is adjudicated by two umpires, aided by a third umpire and match referee in international matches.
Options :

1. # RSPQ

2. % PRQS

3. ¥ SRQP

4. % QRSP

Question Number : 69 Question Id : 9277594086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # SCEPTICAL

2. ¥ HANDKERCHEIF

3. ¥ PHARAOH

4, ¥ RECOMMEND

Question Number : 69 Question Id : 9277594086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # SCEPTICAL

2. ¥ HANDKERCHEIF

3. ¥ PHARAOH

4, ¥ RECOMMEND

Question Number : 70 Question Id : 9277594087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

CAUTIOUS

Options :

1. ¥ PRUDENT

2. % PRECISE

3. ¥ PREDOMINANT
4. % LOOSE

Question Number : 70 Question Id : 9277594087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

CAUTIOUS

Options :

1. ¥ PRUDENT

2. % PRECISE

3. ¥ PREDOMINANT
4. % LOOSE

Question Number : 71 Question Id : 9277594088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

RIVALRY

Options :

1. ¥ ACCORD

2. ¥ ANTAGONISM

3. % ASSIMILATE

4. ¥ COUNTERATTACK

Question Number : 71 Question Id : 9277594088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

RIVALRY

Options :

1. # ACCORD

2. ¥ ANTAGONISM

3. % ASSIMILATE

4. ¥ COUNTERATTACK

Question Number : 72 Question Id : 9277594089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

FOOLHARDY
Options :

1. % RECKLESS

2. % IMPRUDENT
3. ¥ ENLIGHTENED



4. % INCAUTIOUS

Question Number : 72 Question Id : 9277594089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

FOOLHARDY
Options :

1. ¥ RECKLESS

2. % IMPRUDENT
3. % ENLIGHTENED
4. % INCAUTIOUS

Question Number : 73 Question Id : 9277594090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A large group of fish swimming together, but not in unison or in any coordinated formation.
Options :

1. ¥ Shoal of fish

2. ® Parade of fish

3. % School of fish

4. % Bale of fish

Question Number : 73 Question Id : 9277594090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A large group of fish swimming together, but not in unison or in any coordinated formation.
Options :



1. ¥ Shoal of fish
2. # Parade of fish
3. % School of fish
4. % Bale of fish

Question Number : 74 Question Id : 9277594091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

To enjoy yourself very much.
Options :

1. # Wallflower

2. % Hold your horses.

3. % Have a whale of a time.
4. % A plum job.

Question Number : 74 Question Id : 9277594091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom for the given sentence.

To enjoy yourself very much.
Options :

1. # Wallflower

2. # Hold your horses.

3. % Have a whale of a time.
4. % A plum job.

Question Number : 75 Question Id : 9277594092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.



Shoemaker, stick to your last.

Options :

1. % Do not criticize anything that you have no idea about. Stick to what you know about.
2. #® Even those who keep postponing their obligations will not let them disappear.

3. # People without similarities appear attractive to each other.

4. ® Damage caused must be paid for in the same amount.

Question Number : 75 Question Id : 9277594092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Shoemaker, stick to your last.

Options :

1. ¥ Do not criticize anything that you have no idea about. Stick to what you know about.
2. # Even those who keep postponing their obligations will not let them disappear.

3. # People without similarities appear attractive to each other.

4. % Damage caused must be paid for in the same amount.

Sub-Section Number : 2
Sub-Section Id : 927759128
Question Shuffling Allowed : Yes

Question Id : 9277594093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Sporadic use of the term for some of the subject matter occurred subsequently, such as the use by Etienne Serres in 1839 to describe the natural
history, or palaeontology, of man, based on comparative anatomy, and the creation of a chair in anthropology and ethnography in 1850 at the
French National Museum of Natural History by Jean Louis Armand de Quatrefages de Bréau. It is the scientific study of humanity, concerned
with human behaviour, human biology, cultures and societies, in both the present and past, including past human species. The major theorists
supported the gradual osmosis of anthropology curricula into the major institutions of higher learning. By 1898, 48 educational institutions in 13



countries had some curriculum in anthropology. None of the 75 faculty members were under a department named anthropology.

This meagre statistic expanded in the 20th century to comprise anthropology departments in the majority of the world's higher educational
institutions, many thousands in number. Anthropology has diversified from a few major subdivisions to dozens more. Practical anthropology, the
use of anthropological knowledge and technique to solve specific problems, has arrived; for example, the presence of buried victims might
stimulate the use of a forensic archaeologist to recreate the final scene. The organization has reached global level. For example, the World
Council of Anthropological Associations (WCAA), "a network of national, regional and international associations that aims to promote
worldwide communication and cooperation in anthropology", currently contains members from about three dozen nations.

Sub questions

Question Number : 76 Question Id : 9277594094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the above passage, who was responsible for creation of a chair at the French National Museum of Natural History??
Options :

1. ¥ Etienne Serres

2. % Clifford Geertz

3. ¢ Jean Louis Armand

4. % Adam F. Kollar

Question Number : 77 Question Id : 9277594095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :

1. ¥ Anthropology

2. # National Museum of Natural History

3. % Palaeontology

4. # Ethnography

Question Number : 78 Question Id : 9277594096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. World Council of Anthropological Associations (WCAA) currently contains members from about four dozens of nations.



B. The subject of the passage is the study of human animal behaviour, their biology and their evolution.

C. The meagre statistic expanded in the 21th century to comprise palacontology departments in the majority of the world's higher educational
institutions, many thousands in number.

Options :

1. ¥ Only A is correct.
2. % A & B are correct
3. # B & C are correct.

4. % All are incorrect.

Question Number : 79 Question Id : 9277594097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options which word can replace the word 'meagre' in the above passage?
Options :

1. ¥ Insufficient

2. % Inappropriate

3. ¥ Relaxed

4. ¥ Complex

Question Number : 80 Question Id : 9277594098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the opposite of the meaning of 'Sporadic' from the above passage?
Options :

1. % Scattered

2. % Frequent

3. % Patchy

4. % (Qccasional

Question Id : 9277594093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Sporadic use of the term for some of the subject matter occurred subsequently, such as the use by Etienne Serres in 1839 to describe the natural
history, or palacontology, of man, based on comparative anatomy, and the creation of a chair in anthropology and ethnography in 1850 at the
French National Museum of Natural History by Jean Louis Armand de Quatrefages de Bréau. It is the scientific study of humanity, concerned
with human behaviour, human biology, cultures and societies, in both the present and past, including past human species. The major theorists
supported the gradual osmosis of anthropology curricula into the major institutions of higher learning. By 1898, 48 educational institutions in 13
countries had some curriculum in anthropology. None of the 75 faculty members were under a department named anthropology.

This meagre statistic expanded in the 20th century to comprise anthropology departments in the majority of the world's higher educational
institutions, many thousands in number. Anthropology has diversified from a few major subdivisions to dozens more. Practical anthropology, the
use of anthropological knowledge and technique to solve specific problems, has arrived; for example, the presence of buried victims might
stimulate the use of a forensic archaeologist to recreate the final scene. The organization has reached global level. For example, the World
Council of Anthropological Associations (WCAA), "a network of national, regional and international associations that aims to promote
worldwide communication and cooperation in anthropology", currently contains members from about three dozen nations.

Sub questions

Question Number : 76 Question Id : 9277594094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the above passage, who was responsible for creation of a chair at the French National Museum of Natural History??
Options :

1. ¥ Etienne Serres

2. % Clifford Geertz

3. ¥ Jean Louis Armand

4. % Adam F. Kollar

Question Number : 77 Question Id : 9277594095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :

1. ¥ Anthropology

2. # National Museum of Natural History

3. % Palaeontology



4. % Ethnography

Question Number : 78 Question Id : 9277594096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. World Council of Anthropological Associations (WCAA) currently contains members from about four dozens of nations.
B. The subject of the passage is the study of human animal behaviour, their biology and their evolution.

C. The meagre statistic expanded in the 21th century to comprise palacontology departments in the majority of the world's higher educational
institutions, many thousands in number.

Options :

1. # Only A is correct.
2. % A & B are correct
3. % B & C are correct.

4. " All are incorrect.

Question Number : 79 Question Id : 9277594097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options which word can replace the word 'meagre’ in the above passage?
Options :

1. ¥ Insufficient

2. # Inappropriate

3. % Relaxed

4. # Complex

Question Number : 80 Question Id : 9277594098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the opposite of the meaning of 'Sporadic' from the above passage?
Options :



1. * Scattered
2. ¥ Frequent
3. * Patchy

4. % (Qccasional
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759129
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277594099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FERIRT Uy & 9R el § 3 39 ey &1 997 33 o) SN Ueg &1 Uel [Adhed T8 8 |
Options :

1. % TgaH

2. % JHAT

3. ¢ e

4. % B

Question Number : 81 Question Id : 9277594099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafeiad vy & =R el § 39 s o1 9 &3 s i v &1 et fabed 721 7 |
Options :

1. % UgdH

2. % dHAT

3. ¢ Gsd

4. % DI

Question Number : 82 Question Id : 9277594100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRea Uy & TR fawedl 8 O 3 fadhed &1 90 Hx ol U eg T gl [dHed § |
Options :

1. % god

2. ¥ GleIaHa

3. % 3o}

4, % HHAHII

Question Number : 82 Question Id : 9277594100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FafRea Uy & TR fawedl § O 3 fadhed &1 90 Hx ol U eg T gl [dHed § |
Options :

1. % god

2. ¥ GleIaHa

3. % 3o

4, % HHAHII

Question Number : 83 Question Id : 9277594101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered Uy # IR fasedl § 9 34 fddbey o1 = &< off fad 7T fY - fa=d e Wsg o1 gt e 1 fached 81| 4= + Tyor -
Options :

1. # Y—Y0[

2. ¢ YNNI

3. % YAV

4. % yrgqmon

Question Number : 83 Question Id : 9277594101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o aR fased! & I 39 fdeed &1 99 &x ol fad U 4fY - fawdg e &1 g Tid &1 fdded g1 | ¢+ + Tyl -
Options :

1. * Y90[

2. ¥ YN

3. % ¢y

4. % grron

Question Number : 84 Question Id : 9277594102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fofafed gy o IR famedl # 9§ 39 fad ey o1 9g9 &3 o f4 778 I &1 9et IfY - fawsg &1 fdded 81 | 3iama
Options :

1. % Y +7q

2. ® 3T+ 77

3. % 3 + 3Td

4. ¢ Ut + AT

Question Number : 84 Question Id : 9277594102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad Uy o AR fawedl O T 39 faded &1 o+ &< N {30 7T fe o1 It 9fY - fawse o1 fawey g1 | siamTd

Options :

1. % Y+ 77q

2. % Y[+ 71d

3. % 31t + 3T
4.« 3t + N1

Question Number : 85 Question Id : 9277594103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o aR fawed! & I 39 fdeed &1 99+ &< il a1ei=T o ot Ugdd Ueh s o1 Ta! fddbed 81| Sl g 1 1 Ugel 9 1 9 -
Options :

1. ¥ 3gRaRi

2. % gaxf

3. % 3y

4. % feieRid

Question Number : 85 Question Id : 9277594103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & R fowedl O T 39 fadwed &1 o0+ &< ST aTei=l & ot W Uh Tsq &1 gl fddbed 81 | ST gR ! d1d Ugal I 7 I -




Options :

1. ¥ 3gIaRi
2. % gl
3. % 3|
4. % faTeRi®

Question Number : 86 Question Id : 9277594104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafad Uy # aR el § 9§ 39 fadbed &1 907 3 Sl AT 71U Wea g &1 we 31 are fdshed 1 | 31 a-3pd
Options :

1. % SIS, dgd lal

2. % ydd IUg

3. % {7 3icret , 3ifHumg

4. ¢ o1 oA &, ATHd

Question Number : 86 Question Id : 9277594104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofifea oy o 9R faeedl § ¥ 39 fahed &1 99 &3 off feu TN Weg g 1 9et 31 arell fdebed 81 | 3rpal-3npa
Options :

1. % 3o, §gd Sual

2. % ydd 4Us

3. % forr 3faret , 3ifHumg

4. ¢ {1 od &, ATHd

Question Number : 87 Question Id : 9277594105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy # ,9R fodwedl 7 9 39 fddwed &1 99 & o1l J[G Usd BT Tl [abed 8 |

Options :




1. % grargy
2. % 3G
3.9 WYl
4. % I=A

Question Number : 87 Question Id : 9277594105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed g o aR fadwedl O 9 39 fdded &1 70 1 Al Y s b1 ol fAhed 71 |
Options :

1. % geardt

2. % 3T

3. % WPl

4, % =1

Question Number : 88 Question Id : 9277594106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad ey & R faee § 3 39 faded &1 9g9 o3 Sl 3T 7T e &1 I faeiv 2sg § | Ay
Options :

1. ¢ Iy

2. % AN

3. % g

4. % 3

Question Number : 88 Question Id : 9277594106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad uy & IR fawed & I 39 faded &1 9g9 &3 Sl 3T 7T e &1 T faay 2sg § | Ay

Options :

1. v Uq¥




2. % gaNY
3. % e
4. % 3MId

Question Number : 89 Question Id : 9277594107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ@@au&rﬁ,mﬁﬁﬁ@rwﬁwwmqqﬂﬁsﬁﬁquéﬁm?ﬁﬂ‘czwwm%wa{lﬁ&w%aﬁvﬁgﬂlﬁ&rmﬁ
e |

Options :

1. % QO Yifdeq Hrd

2. % T GaHM DI

3. % HMHY Hd DTl

4. % 3T HdhTcl

Question Number : 89 Question Id : 9277594107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁa@@auaﬁ,wﬁwﬁﬁ@rwﬁmwmqqqaﬁaﬁﬁnmm%%%ﬂawwm%maﬁw%aﬁwﬁﬁlﬁmﬁ
a1

Opti01|1s:

1. % g HUideq ord

2. % Ffew qHH Pt

3. ¥ {MHE YdhTd

4.« 3T HdhTcd

Question Number : 90 Question Id : 9277594108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁ@u&ﬁ,wﬁﬂﬁ@wﬁwwwﬁﬁﬁwm%ﬂawﬁﬁw%|u°rf%r,\—sﬁwenﬁma1ﬁawﬁaﬂﬂ-s°f
|



Options :

1. #® 9 dIR

2. « THi%d a1

3. % gYod dIe

4. % fANYaED IR

Question Number : 90 Question Id : 9277594108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬁr@au&rﬁ,wﬁwq‘fﬁ@rw fahed &1 Ig B3 S faU TN 916 & U &1 el fawey g | Hifd, S o gAR O 3 arant oY 78
|

Options :

1. % I IqIHT

2. ¢ THi%d ar

3. % JYId aI

4. % fANYarES aTH

Question Number : 91 Question Id : 9277594109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa uy & aR fowedl & T 39 fawey &1 999 &3 il foU U arag & 0 &1 Ua! [dded § | 3 H aR 31 IR $IId $adh- il g |
Options :

1. % ggad I

2. % fayT gD 1

3. % WA dIEg

4.« THiYd arR

Question Number : 91 Question Id : 9277594109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy & TR fawel § ¥ 39 fawey &1 T L S fou T8 argd & U &1 Ua! fdbed § | 3 H R 31 IR $H1d e aildl g |




Options :

1. % Igod a1

2. % fqyE IS IR
3. % A I

4. ¢ fufgq arm

Question Number : 92 Question Id : 9277594110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed # O 39 fadwed &1 9 &3 off fovm g god a1ed &1 el faweu g |
Options :

1. ¢ U - foredft A Y 3o srelt o) e e R e AR € R

2. % U - foredt wf o oo =il o) e ;T R A T @ R |

3. % Ul - forgt Y o oo wrail ot e e R A SR R

4. % UEY - fordt A ot arom =il Y fRren e W e At € Ry

Question Number : 92 Question Id : 9277594110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffea Uy & TR fawedl § O 3 fadmed &1 9 &1 off fov™ g gadd a1 &1 9e] fdded § |
Options :

1. ¥ TSI - Fordt | ot oo sl ) e e R e SR @ 7|

2. % T} - foreht oY ot oo et o e e R emm AR R

3. % U - forg o ot 3o wrel Y e e R e AR R

4. % g - fordt A f 3o o=l ot e -Slan R &g <ol g g

Question Number : 93 Question Id : 9277594111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl § I 39 fdwey &1 999 &3 o TR g gad oo &1 9g! fawea 7 |

Options :




1. % fOAT ST, 31U 95 3 § ,39 9R ST BT IR 3Ha=T il
2. % TS, oMU 98d 3w § ,39 IR ST I 3a¥R 3a%g ¢ |
3. % fOaT off oY 98d 3w § .39 IR ST I 3awR a4 ¢ |
4.« TUQT ST, 3IT0 950 o= § ,39 IR S P AR 3T &1 |

Question Number : 93 Question Id : 9277594111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied v & aR fowetl o 9 39 faded &1 70 & S favm g gad 919 &1 Jel fdeed § |
Options :

1. % fOAT ST, 3TY 98 3/ § ,39 IR ST BT 3AIR 3aT il

2. % TS, 3T 98 3/ § .39 IR Sl T IR 3a<g il |

3. % fUTSff 310 95 3 § .39 IR S BT ¥R 3= ¢l |

4. TUAT S, 37U S5 S/ § , 39 IR ofF BT AR 3a%g &1l |

Question Number : 94 Question Id : 9277594112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad Uy ¥ aR fawed! & T 39 fdewed &1 999 &% il faU T8 geTak &1 Ta! 312 g1 | Hu1s & Wc 4 SreHT -
Options :

1. % YR} faufy a1 gefied ug-n

2. % SgH iR WR fayrg T

3. ¢ AT a1 R ST & BTl B S

4. % g@-Ha B

Question Number : 94 Question Id : 9277594112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRed Uy & TR fawedl 8 O 39 fadhed &1 78 &1 off [T 7T GeTar &1 Tg! 31 g1 | HaTs & We I ST -
Options :

1. * YR faufxy ar gdied osH




2. % SRgH Hfad W Ay 7 3
3. ¥ RSt TR Aqw S g A &
4. % gE-GAIY e

Question Number : 95 Question Id : 9277594113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v & TR fodwenl O 9§ 39 fadhed &1 70 & S faU T dipifad &1 et 3 g1 | fid & giad & 019 #gl=
Options :

1. % IR I H A6l

2. ¢ ol afdd T Ut 9 o1 UTtd R 1 TRT DHRAT, S Sch U A gl |

3. % 3B A1 3fR 98 +ff Igara o

4. % S WU H TRad- el gial

Question Number : 95 Question Id : 9277594113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy o, 9R fowddl 7 9 39 faded &1 99 &3 o1 AU U aeifad &1 el o 8) | <ta & aiaa & 71 del-
Options :

|. % g kg U 1Y e

2. ¢ ol i T Ul 9 1 UTTd B 1 =T DT, S S¥ch U A gl |

3. % 33 It 8iR 98 it sgara o

4. % SIfq THTE § uRkad= el gran

Sub-Section Number : 2
Sub-Section Id : 927759130
Question Shuffling Allowed : Yes

Question Id : 9277594114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

2 fau 7 Y ) eATgde U 3R U U U &1 FalaH SR 9 | HIFd B &l g gl gid! 8] T o I8 b |l gHR Uil Bt e



B, BH AIE ¢ SR GHRT 3MTaR B SR g d §H R UH &Y, GHRT 31HTd HeYH HY, J7d Sila ﬁ%ﬁgv@ g IWd 8- U7 34T &Y
3T SRT Y S ot afe fedt 3 = fod T U=iar &) a1 pis 3ueh! Teltg AN U118 o) 3MUHT fGd 41 fId Iod1 82 SW A s J]
3irecHt fara +f srerfayreht SiR sirerdgy ol A1 faaTs <, HiaR ¥ 98 R3S dRg TR &1, TIciTe $1, W8 BT Y@l 5| afe $d 34,
qHIGATgad o Tdb <l 31T HIRA I 884 & e Ugd S| GERI &1 HIGATSH Bl 31h-3Td THIAT, 30! HE BT, 375 1Y
TS 3R WE HI IR BT Ta! TGRS 3| S J TAITD Sitad B BT & SRars! Wi &1 ol 1Y T ) 3T SR
30 G-I Sedl g

Sub questions

Question Number : 96 Question Id : 9277594115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE P SIUR A BT T YA ¥ e R I3dT 8 ?
Options :

I. % §d 98 GERI Bl Hag Bl 8

2. % Sd §H QIR &1 g U1 R R &

3. ¢ S GER ANT 3P| YR & 8, AT I9D! I AT §
4. % JF §H YA Sig | frat BT 3HTT 78y o &

Question Number : 97 Question Id : 9277594116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

93 Y 5T 3 o fpw A T YT BN} 2
Options :

1. % 3wy WY HIoH B

2. % 3{YTE HUfl bl

3. % QIR &I YIS DA Bl

4. ¥ HE T4 N8 ol

Question Number : 98 Question Id : 9277594117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAERG T BT T 34 g 2



Options :

1. % QIR B HIGI3H Bl FHSDHR ITb Ui d HAGR DA

2. % 3O HTTAHAT U4 Bl & AR B HAT

3. ¥ GIRI B HIGTSH DI THIIDPR TATs 3R WG BT AIGR HRAl
4. % GO &) GHI TG ST TR Sl

Question Number : 99 Question Id : 9277594118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ¥ DT AT '3HTE BT [Ia T Teg § 2
Options :

1. & YUdl

2. % DHH!

3. % Up

4. % 3HGR

Question Number : 100 Question Id : 9277594119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod Ifad N il |
Options :

|. % I $I A8

2. ¢ HFd &I ygrrr
3. % HMHJHA

4. % Sligq I IR

Question Id : 9277594114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

T feu T TR Y eagde U 3R U TN Ul ol WaiH SR I | A4 1 &) g Ughat BT 8 T ot Tg fob o gHR 07 Bl s
B, BH AIE 3 SR GHRT e B SR g d §H W UH &Y, GHRT 314G 7YY HY, J1d Sila ﬁ%ﬂgves et YW §- U1 34T &Y
3P TRT T B ot afe fHdt 3 g=a fod T u=iar o1 a1 B1s 31U Iarg AN 3HTd1 8 af U] fad a1 fad Ia1 82 FW I P 93]




ST el +it STefayTEt 3R SMTeRigy &l A1 fa@rs ¢, HicR U a8 THRI-3HTUSH! de YR I, Ui &1, W BT 4@l g dfa 37 3,

qHIFGATga® o Tob <l 310 HIRA 3P 884 & e Ugd S| GERI &1 UGS Bl 81h-31d THIAT, 30! H% BT, 375 a1y

j{ﬂﬁﬁsﬁij}%ﬁ%dgu B T8 AIERG I 5| TH I FHIS Siig & T adT & grars! Wier @ ol g1 T o] T gHRI
Q- |

Sub questions

Question Number : 96 Question Id : 9277594115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TEC P TR T BT A YA ¥ e R IoaT 8 2
Options :

. % 5d 98 QORI B Hag Bl 8

2. % I §H G| B! H% AT AR Hd &

3. ¢ S GER ANT 3D YR & g, AT 39D! I AT §
4. % 9 §Y 30 Sita | fhl o1 3141 Heqy o3 &

Question Number : 97 Question Id : 9277594116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS U 937 3McH ot frd e BT Y@ BT g 2
Options :

1. % 3 W@iGP HioH &I

2. % 3YTE JUf B

3. % QIR &I YHIGd DR Bl

4. ¥ HE Td UIHTE 1

Question Number : 98 Question Id : 9277594117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGRS &1 T 37 g 2
Options :

1. % GIRI D UGS D] JHIBR 3D Uldpd TGER DRl




2. % 3T TIRIH T UG BT & SHTAR B HReAT
3. ¢ IR BT HIGISH B THSHR T 3R TS BT AR HRAT
4. % GIRI I GHSH T YT TR ST

Question Number : 99 Question Id : 9277594118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST q BT T '3fHTT BT Il s & 2
Options :

1. « YRl

2. % Bl

3. ¥ iU

4, % 3IgR

Question Number : 100 Question Id : 9277594119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 & fore Ifad s ol |

Options :

Disciplinel
Group Number : 6
Group Id : 92775993
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 927759109

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759131

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277594120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of inflection points are there in first and second derivatives?
Options :

1. %1

2. %3

3.2

4. % 5

Question Number : 101 Question Id : 9277594120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 3R GIR 3rgeherel H fhd- UbR & A Uikad fawg gid 82
Options :

1%

2. %3

3.¢2

4.% 5

Question Number : 102 Question Id : 9277594121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inflection point for f(x) = x* -4x3 - is :-
Options :

1. # x=1

2. % x=4

3. ¥ x=0

4. ® x=6

Question Number : 102 Question Id : 9277594121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f(x) = x* -4x3 -$1%|E=ri%rtrﬁaﬁ=r®7g% -
Options :

1. # x=1

2. % x=4

3. ¥ x=0

4. % x=6

Question Number : 103 Question Id : 9277594122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first derivative tells us about

Options :



1. # concavity

2. # convexity

3. ¥ slope

4. ¥ parabolic property

Question Number : 103 Question Id : 9277594122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugl A e g8 & IR T FArT B
Options :

1. # 3ddcfdl

2. % 3dddl

3. ¥ odH

4. % TRAAD 0T

Question Number : 104 Question Id : 9277594123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For local maxima sign of first derivative changes from

Options :

L% ()
2.Y (+—-)
3.% (-5
4. % (+>+)

Question Number : 104 Question Id : 9277594123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH fadh e gRadH! & R 3y g BECSAE]
Options :

L%¥ (=)




2_*.-’-/(4-—)—)
3. % (-—-)
4. % (+—+)

Question Number : 105 Question Id : 9277594124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The curve y= x3-2x+5 has

Options :

1. #® Concave up shape

2. % Concave down shape
3. # Convex up shape

4. ® Convex down shape

Question Number : 105 Question Id : 9277594124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
deh y= xX3-2x+5 | %
Options :

1. % JW B RP Addd HTHR

2. ¢ 4K BT R 3fadd MHR

3. % SR B RB I MDHR

4. % 91 P RB I MDBR

Question Number : 106 Question Id : 9277594125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formula for rotation of curve about x-axis is :-
Options :

1. ¥V =[,2]]y? dx

2. % v = [ [x2dy



3. % yv=[[]x2dy
4. % v=0

Question Number : 106 Question Id : 9277594125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
x-31&f & URel: Isb b YOI BT G &:-
Options :

1. ¥ V=2 [Ty> dx

2. % v =[2[x2dy

3. % v=[]xxdy

4. % v=0

Question Number : 107 Question Id : 9277594126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the volume of solid generated by revolution of the loop at the curve about x-axis :- 3ay? =x(x-a)?
Options :

1. ¥ [[a336

2. ® [1a¥6

3. ¥ []a/36

4. ® [Ja/6

Question Number : 107 Question Id : 9277594126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x-3{&f :- 3ay> =x(x-a)* P IR T TR U & YU I I 319 DT AT 1 B
Options :

1. ¥ []a336

2. % J]a%6

3. ® []a/36

4. ® [Ja/6



Question Number : 108 Question Id : 9277594127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the example of level surface -
Options :

1. # plane surface

2. ¥ isothermal surface

3. % curved surface

4. % hyperbolic surface

Question Number : 108 Question Id : 9277594127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TG BT IGIGIUN DI AT 5 -
Options :

1. ® JHJA ddg

2. « HATY! I

3. ® dob ddg

4. % JfARIARID Hag

Question Number : 109 Question Id : 9277594128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If flux entering any element of space is the same as that of leaving it i.e. Div. v=0 everywhere, then such a vector point function is called -
Options :

1. # curl

2. ® divergence

3. ¥ solenoidal

4. % gradient



Question Number : 109 Question Id : 9277594128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe gty & foredt +ft Tieric # vowr o ara SifiaTe, 30 Be- & THH & 31ifd 8% SFTE Div. v=0, 1 U8 Tfe¥ g e &1 HaTSar g -
Options :

1. % &

2. % fageH

3. ¢ AiaHged

4. % Yqurdf

Question Number : 110 Question Id : 9277594129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The commutative law for any two complex numbers z: and z:
Options :

1. ® z21+z2=721-22

2.V it n=ntn

3.® zi-n=22+7

4. = Z1-72=72-71

Question Number : 110 Question Id : 9277594129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgt al Tftrs Tmstt 2, 3R 2 & fore spafafo faw.
Options :

1. * 21+ z2=21- 22

2. ¥ ntn=ntu

3% zi-m=mt

4, = Z1-722=722-71

Question Number : 111 Question Id : 9277594130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The polynomial equation of n degree has roots .
Options :

1. %1

2.%3

3.% 4

4.9 n

Question Number : 111 Question Id : 9277594130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n f&30 aTet Sgue wHieRu & qaga gl
Options :

1. %1

2.%3

3.% 4

4. ¥ n

Question Number : 112 Question Id : 9277594131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A relation is said to be reflexive if

Options :

1. ¥ (a,a)eR, foreveryae A
2. % (a,a) € R, forevery A €a
3. % (a,a) ER, forevery a€ b
4. % (a,b) ER , forevery A€ a

Question Number : 112 Question Id : 9277594131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T oY | Wed (IR BT Sl & TS



Options :
l.ﬁ/(a,a)eREIFaa'TaeA$ﬁ‘TQ
2. % (a,0) € R, YD A €a & folQ
3. % (a,a)€R,ma€baﬂ%‘|’Q
4. % (ab)ER,UAP A € a®h faT

Question Number : 113 Question Id : 9277594132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not a property of equivalence relation?
Options :

1. ¥ associativity

2. ® reflexive

3. % symmetric

4. % transitive

Question Number : 113 Question Id : 9277594132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T Jeadl JaY (a1 A=) &1 07 Te 82
Options :

1. ¢ gl

2. ¥ W RUIRIA)

3. % gHfAA

4. % GHHD

Question Number : 114 Question Id : 9277594133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An element a of a ring is said to be nilpotent if

Options :



1. # am =] for some m >1
2. % gm =0 for some m> 1
3. # g =1 for some n=0

4, % gm =2 for some m> 1

Question Number : 114 Question Id : 9277594133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@W%Waﬁ?ﬁﬂmwwaqﬁ
Options :

1. WWmﬂ%ﬁ‘l’Qam:l
2.¥YFBm>1dh[Wom=0

3. % P n=0P [T a =1

4. % PBm>1H AT om=2

Question Number : 115 Question Id : 9277594134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number theory , concerned with the properties of :-
Options :

1. % negative integer

2. ¥ positive integer

3. * irrational number

4. % both negative

Question Number : 115 Question Id : 9277594134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Rigia, 75 & Ton 3 d6fid §:-
Options :

1. % BUTHS YUl



2. ¢ YATHS qulidh
3. % IUNEY I
4. % G BUTHS

Question Number : 116 Question Id : 9277594135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let a, b be integer , not both 0, then there are integers u,v such that :-
Options :

1. ¥ gcd(a, b) =ua +vb

2. % gcd (b, a)=ua-vb

3. % gcd (a,a)=uatvb

4. % ged(a,b)=va-ub

Question Number : 116 Question Id : 9277594135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF o % o, b qUIfes §, AT 0 8T &, R quTieh u,v 3T RE I § fob-
Options :

1. ¥ gcd(a, b) =ua +vb

2. % gcd (b, a)=ua-vb

3. % ged (a,a)=uatvb

4, % gcd(a,b)=va-ub

Question Number : 117 Question Id : 9277594136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The matrix is said to be in reduced row echelon form if the leading coefficient in each row is :-
Options :

1. ¥ only non zero number

2. ® zero

3. % any variable



4. # any number

Question Number : 117 Question Id : 9277594136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T H! A I WIS (TRAM) ¥4 H Hl Sdl § afe e I 7 ol oris 3 -
Options :

1. ¢ Had LR BT

2. % T

3. % IR MR

4. % DIg G

Question Number : 118 Question Id : 9277594137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reduced row echelon form of every matrix is :-
Options :

1. %1

2.%0

3. % infinite

4. ¥ unique

Question Number : 118 Question Id : 9277594137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TG BT JAHIG A A ((TRIAH) ¥ g -
Options :

1. %1

2.%0

3. % 3Fd

4.« 3ffgdig



Question Number : 119 Question Id : 9277594138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following condition is not satisfied by a matrix in row echelon form?
Options :

1. ® the first non zero element in each row , called the leading entry, is 1.

2. # each leading entry is in the column to the right of leading entry in the previous row .
3. ¥ rows with all zero elements , if any, are below rows having a zero element .

4. ® rows with all zero elements , if any are below rows having a non zero element

Question Number : 119 Question Id : 9277594138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 3 o 9 fufa 3 S (@Re) U § T 3Teg §RT P 6l gial 82
Options :

1. % g A 1 vgal YA Wede, fo sproft ufafd serondare, 1 8

2. % U ol ufafd fUsa siaw o eroft ufafy & q iR & Slan H 5|

3. ¢ it 0 uferde aredl 3T, afe @IS g, Y Ufere arefl & A B

4. % gl g wferdie areft 7, afe @1 g, o YR Ui e arell 3 o i §

Question Number : 120 Question Id : 9277594139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Peanos postulate?

Options :

1. ¥ N is empty.

2. % Associated with each natural number n there is a unique natural no.n' called the successor of
3. # There is a natural no. n that is not the successor of any natural no.

4. ® The only subset of N that contains X and the successors of all its elements is N itself

Question Number : 120 Question Id : 9277594139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafoRed & 3 o4 o sngmm g 82

Options :

1. ¢ N Tl g

2. % UAH WA G n o 1Y St TP Addh AT n' &G BIcil § SNl (-5 BT AT Hd Bl ordl &
3. % T Ui TS n g SNl ford! UTdhd T &1 STIh IS Tal /|

4. % N ® THHH SUaHY foH x g 3R 39% I+ Tferic & Simitie W N gl 8
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Question Number : 121 Question Id : 9277594140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose that 1) exists on an open interval I about X0 , and let x be in I. Then the remainder is :-
Options :

L ¥ Ry(x) = f(x) - Ty (x)

2. ® R, (x) = f(x) +Ty(x)

3. % R,(x)=0

4. % R, (x) =f(x)

Question Number : 121 Question Id : 9277594140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AA T P 0D Tep Gl SR I IR x0 F IR A ANG §, 3R x, [H & | O ATBA & -
Options :

1 ¥ Ry(x) = f(x) - Ty (%)

2. ® R, (x) = f(x) +Ty(x)

3. % R,(x)=0

4. % R, (x) = f(x)

Question Number : 122 Question Id : 9277594141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

let x €R be non - negative. Then x has a unique non - negative square root , denoted \x , which satisfies :-
Options :

1. ¢ (Vx)>=x

2. % (Vx)2=0



3. % (Wxp=x2
4. % x=0

Question Number : 122 Question Id : 9277594141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M A P x €R BUR 1 Al x BT Sifecdia HOR T §, o Vx & T H <=1ia a1 8, S AP Rl 8-
Options :

1. ¥ (\Vx)=x

2. % (\x)2=0

3. % (Vx)P=x?

4. % x=0

Question Number : 123 Question Id : 9277594142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every non-empty set that is bounded above has :-
Options :

1. # unique greatest lower bound

2. ¥ unique least upper bound

3. % order of supremum

4. % order of infimum

Question Number : 123 Question Id : 9277594142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R = ol SR IRES 8, I9H 9 g1 7:-

Options :

1. ® gty ged v} e uReg
2. ¢ G gAdH HURT AT
3. % gdiw &l HH|



4. % FgaA BT HA|

Question Number : 124 Question Id : 9277594143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The golden ratio is :-

Options :

.Y p-1=1/0
2. % p+r1=1/¢
3.% p=1/0¢
4. % p2=0¢/2

Question Number : 124 Question Id : 9277594143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIGEERIE]] %z -

Options :

1.¥ p-1=1/0
2.% p+1=1/¢
3.% p=1/0¢
4. % p+2=0¢/2

Question Number : 125 Question Id : 9277594144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every bounded sequence of real numbers has a convergent subsequence.
Options :

1. # Taylor's theorem

2. ¥ Bolzano -Weierstrass theorem

3. ¥ mean value theorem

4. # theorem of continuity



Question Number : 125 Question Id : 9277594144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T3l & Udd IR 3IhH H Th R aRomd grar g |
Options :

. % TR PTUHT

2. ¢ SIASTHI-ARReN U8y
3. % T 94 UHT

4. % grdd yo g

Question Number : 126 Question Id : 9277594145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the property of limits?
Options :

1. ¥ monotonicity

2. ® associativity

3. ®¥ commutativity

4. % closure

Question Number : 126 Question Id : 9277594145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiad & @ &1 31 S &1 o 82
Options :

1. ¥ Tohfesed

2. % gaGdl

3. % hHfAMHT

4. % HHUA

Question Number : 127 Question Id : 9277594146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sequence whose elements become arbitrary close to each other as the sequence progresses are:-
Options :

1. * monotone sequence

2. # direct sequence

3. % cauchy sequence

4. * molecule

Question Number : 127 Question Id : 9277594146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

315pH T Tferie 3iehH 3 3 98- IR U 2R & Adbe THueid g1 d 8, I8 ©-
Options :

1. % THIQW (HHICH) 3IHH

2. % iyl 3IhH

3. ¢ DIRN SIHH

4. % 3]

Question Number : 128 Question Id : 9277594147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An alternating series will converges if the terms a,converge to  monotonically.
Options :

1. %1

2.¥0

3. % -1

4. # infinity

Question Number : 128 Question Id : 9277594147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS TTad! SRaa SRR Sl afg UG o, Udiged ¥U ¥ H SRR IRA 5
Options :

1. %1

2.9 0

3. % -1

4. % 3Hd

Question Number : 129 Question Id : 9277594148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the limit of the summand is undefined or non zero, the series must:-
Options :

1. ¥ diverge

2. # converge

3. * remains constant

4. # first diverges then converges

Question Number : 129 Question Id : 9277594148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g RIS BT T ORI a1 AR 8, <A YTl -
Options :

1. ¢ 3OHRd

2. % SR

3. % Fyudics Yedr e

4. % Ugel IR Bil & b SRR I ®

Question Number : 130 Question Id : 9277594149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the order of the differential equation y'-4y =x- 3x>+4?
Options :

1. %2

2.¥ 1

3.%0

4. % 3

Question Number : 130 Question Id : 9277594149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THT THIDHRUT y'-dy =x- 3x>+4 T HH FT 87
Options :

1. % 2

2.¥ 1

3.0

4. %3

Question Number : 131 Question Id : 9277594150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The particular solution to the differential equation y' =2x passing through (2,7) is

Options :

1. ® y=x*+2
2. % y=0

3. ¥ y=x>+3
4. % y=x*+1

Question Number : 131 Question Id : 9277594150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(2,7) 9§ TOIRA AT 3(aAH S THIBRU y' =2x T AR & gl
Options :




1. #® y=x2+2
2. % y=0
3.9 y=x>+3
4. % y=x2+1

Question Number : 132 Question Id : 9277594151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Differential equation describing exponential growth is :-
Options :

1. ¥ dN/dt=1N

2. % (dN/dt)=N

3. % dN/dt=r

4. % dt/dN=1N

Question Number : 132 Question Id : 9277594151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 1T gl BT qUMH HRA ATaT SfaHd THIBRUI §: -
Options :

1. ¥ dN/dt =N

2. % (dN/dt)=N

3. % dN/dt=r

4, % dt/dN=1N

Question Number : 133 Question Id : 9277594152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A differential equation that incorporates both the threshold population T and carrying capacity .
Options :

1.¥ dp/dt=rP(1-P/K)(1-P/T)

2. % dt/dp=r(1-P/K)(1-P/T)



3. % dp/dt=(1-P/K)(1+P/T)
4. % dp/dt=0

Question Number : 133 Question Id : 9277594152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HaHA THIHRUT FTTH TUTAITT SHRRSAT T 3R a8+ &l a1 [M1Hd &
Options :

1.¥ dp/dt=rP(1-P/K)(1-P/T)

2. % dt/dp=r(1-P/K)(1-P/T)

3. % dp/dt=(1-P/K)(1+P/T)

4, % dp/dt=0

Question Number : 134 Question Id : 9277594153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The constant r> 0 in the exponential growth function -
p(t) = poer -

Options :

1. # carrying capacity
2. % growth rate
3. # phase line

4. % threshold population

Question Number : 134 Question Id : 9277594153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR I B 8 Fadie > 0 -
p(t) = pOer -

Options :

1. % dg- &HdT

2./ Pa®




3, % YIgRYT @]
4. % QHTGIHT I

Question Number : 135 Question Id : 9277594154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solution of differential equation d*y/dx?- 8 dy/dx +15y=01is -
Options :

1. % y:c3x—c'3X

2. ¥ y=C 3+ Cy X
3.8 y=C,eM-C,y e

4. % y=C e’ -Cqe®

Question Number : 135 Question Id : 9277594154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3THA HIBIU 2y /dx? - 8 dy/dx +15y=0BTEAG-
Options :

1. ® y=edx_¢3x

2. ¥ y=Cy ¥+ C, *

3.% y=Cy -, e

4.8 y=C e’ -C e

Question Number : 136 Question Id : 9277594155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solution of the differential equation d*y/dx* +dy/dx -2y = e* is -

Options :
1. % y=eX
2. % y=e+xer/3



3. ¥ y=cie®+crer+xe/3
4, % y=xe*/3

Question Number : 136 Question Id : 9277594155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TH T FHIB d2y/dx? +dy/dx -2y = e PIEA G -
Options :

1. % y=¢gx

2. % y=e+xe/3

3. ¥ y=cie®+crer+xer/3

4, % y=xe*/3

Question Number : 137 Question Id : 9277594156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solution of differential equation y' + 3y = 6x +11 is :-

Options :

. % y=¢

2. ¥ y=e*+2x+3
3. % y=2x+3

4, % y=ex+2x +3

Question Number : 137 Question Id : 9277594156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3D FHIBRUT y' + 3y = 6x +11 BT B &

Options :

. % y=¢

2. y=egX+2x+3
3. % y=2x+3

4, ® y=ex+2x +3



Question Number : 138 Question Id : 9277594157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bernoulli equation has the form -

Options :
L¥y=at)y+b()y
2.% y'=a®)y-b(
3.%y'=b®)y-a(®)y
4. % y'=b()y

Question Number : 138 Question Id : 9277594157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el gHiepur b1 =T - &l
Options :

L¥y=ay+b®y

2.% y'=a()y-b(®)

3. %y =b)y-a(®)y

4. %y =b()y

Question Number : 139 Question Id : 9277594158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a property of continuous functions on closed and bounded intervals?
Options :

1. % uniform continuity

2. % non - uniform continuity criteria

3. * uniform continuity theorem

4.+ divergence criteria



Question Number : 139 Question Id : 9277594158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T de (Fes) 3R IReEG SfaRmal IR fFARaR e &1 01 781 82
Options :

1. % UHIAM 9dd (GHBH Piiedse)

2. % TR-YAM AT AFCS (A - IABH diredgel shrgcian

3. % THOHM Iad THT (B hiedse! ERA)

4. ¥ UV AHE S (ST3aASY P13

Question Number : 140 Question Id : 9277594159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If we have a sequence (y» )oon=1 , it means for the sequence to have a limit as n tends to infinity. It can be written as
Options :

l.¥y —lasn— o
2. % y —>lasn— 0
3. % y,—nasn— 0

4. % y;>nasn— 1

Question Number : 140 Question Id : 9277594159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g SHAR U 3 H (y,, )oon=1 g, Al 37T 34 § foh 31JehH 1 U AT § Fifh n 3Fd BT SR ST 81 30 F®UH
foraT o g B

Options :

l1.¥ y,—lasn— o

2. % y—>lasn—0
3. % y —nasn— 0

4, % yj>nasn— 1
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Group Number : 8

Group Id : 92775995

Group Maximum Duration : 0

Group Minimum Duration : 0
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Break time : 0

Group Marks : 20
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Section Id : 927759111

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277594160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluate lim x—0 x3 cot x/(1 - cos x).
Options :



1. # 1
2.%3
3.2
4. %5

Question Number : 141 Question Id : 9277594160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬁ lim x—0 x* cot x/(1 - cos x) |
Options :

1. %1

2.% 3

3.2

4. %5

Question Number : 142 Question Id : 9277594161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A continuous function v is said to be negative definite, if
Options :

1. # v is negative definite
2. # v is positive definite
3. % (-v is positive definite)

4. # (-vis negative definite )

Question Number : 142 Question Id : 9277594161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FRIR B v Bl HUMTHS MY BT oar g, afe |

Options :
1. % v BT Fia g




2. % v U A
3. ¢ (v OIS R ®)
4. % -y BUTHES AT ®)

Question Number : 143 Question Id : 9277594162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A continuous function v: R* — R is said to bev radially unbounded if
Options :

1. * v(0)#£0

2. ¥ v(0)=0

3. % v(0)=

4. % v(0)=1

Question Number : 143 Question Id : 9277594162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ARER B v: Re — R B BIod: SaRas wgl ol ¢ afg
Options :

1. % v(0)#0

2. % v(0)=0

3. % v(0)=o0

4. % v(0)=1

Question Number : 144 Question Id : 9277594163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function f(x) is said to be continuous at a point x =c if the following condition hold true:
Options :

1. ¥ f(x) is defined at x=¢

2. % fx)#0

3.% fx)£f(¢)



4, % x=c

Question Number : 144 Question Id : 9277594163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP e f(x) B Th foig x =c W IR wgl ol § afe Fafafed fRufd 98 aror &t oird 8
Options :

1. v’xch?f(x)aﬁqﬁlﬂﬁﬁmq'm%

2. % f(x)£0

3. % fx)£f(c)

4. % x=c

Question Number : 145 Question Id : 9277594164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suppose that f(x) has a derivative on the interval ( a,b ), is continuous on the interval [ a, b] and f(a) =f(b ) then at some value ce (a ,b ).

F'(c)=[f(b) - f(a) V' (b-a)
Options :

1. # Rolle's theorem
2. % Mean value theorem
3. % Taylor's theorem

4. % Newton's theorem

Question Number : 145 Question Id : 9277594164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o {3 f(x) BT SR (a,b) TR TP GBS &, Ol AR [a, b] 3R f(a) =f(b) W AR 8 A TS A ce (a,b) WF'(¢ ) = [f(b) - f(a ) ]/ (b-
a)
Options :

1. % A JHT
2.« HIHHE AT
3. % TR UHY




4. % YA yug

Question Number : 146 Question Id : 9277594165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Functions which are increasing and decreasing in their domain are said to be

Options :

1. ¥ monotonic

2. % non- monotonic
3. ® maxima

4. % minima

Question Number : 146 Question Id : 9277594165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e o 30 THIGET H Ued-9¢d 384 8, 31 ESISIE
Options :

1. ¢ THiey (HHRHP)

2. % IRTHIGY

3. % 3y

4. % gy

Question Number : 147 Question Id : 9277594166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All of computational science is built on

Options :

1. # Rolle's theorem

2. % Taylor's theorem

3. ¥ mean value theorem

4. % remainder theorem



Question Number : 147 Question Id : 9277594166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt uRkeper fagm R AT gl
Options :

1. % [T UHY

2. ¢ CRUHY

3. % HIGHM UHY

4. % QYA YHY

Question Number : 148 Question Id : 9277594167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Taylor's theorem is not used to study the properties of

Options :

1. # evaluating definite integral

2. # understanding asymptotic behaviour
3. # understanding the growth of functions

4. % on solving quadratic eqn.

Question Number : 148 Question Id : 9277594167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR UHT HT IGINT & 10T BT L H= & Q7T -Tg1 [T ST & |
Options :

1. % F3d TUIHd o1 Gedidhd B

2. % TR HGER Bl AT

3. % oo ol dig I FHAT

4. ¢ GO eqn DI A TA R




Question Number : 149 Question Id : 9277594168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Maclaurin series are used to approximate the

Options :

1. # Lorentz factor o
2. ¥ Lorentz factor Y
3. # Lorentz factor 6

4. % momentum

Question Number : 149 Question Id : 9277594168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AFATR=T YTl BT ITART BT ITHM T & fore foan srar g
Options :

1. % ARE PRSP o

2. ¥ ARG BRB Y

3. % AR BRS 6

4. % AT

Question Number : 150 Question Id : 9277594169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The multivariable chain rule is

Options :

1. ¥ df/dx = (df/dt).(dt/dx)
2. % dx/dt=(df/dt) .(dt/dx)
3. % dy/df=(df/dt). (dt/dy)
4, % df/dx = (dx/df).(df/dt)

Question Number : 150 Question Id : 9277594169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SgeRg e fan gl
Options :

1. % df/dx = (df/dt).(dt/dx)

2. % dx/dt=(df/dt) .(dt/dx)

3. % dy/df=(df/dt).(dt/dy)

4, % df/dx = (dx/df).(df/dt)

Question Number : 151 Question Id : 9277594170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If z=x*e%. Find dz.

Options :

1. ¥ dz = 4x%e% dx + 3x%* dy

2. # dz=4x3e¥dy - 3x*e¥dy

3. % dz=4x%% dx

4. ¥ dz = 3x*>dy

Question Number : 151 Question Id : 9277594170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afe 2 = x4 e3y,?‘hd23|'lﬁﬁl

Options :

1. ¥ dz = 4x%e% dx + 3x%* dy

2. ® dz=4x3e¥dy - 3x*e¥dy

3. % dz=4x%% dx

4. ® dz = 3x*¥dy

Question Number : 152 Question Id : 9277594171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A vector field in R is a function :-



Options :

1. ¥ F vector : Ro—R »
2. # F vector—R R
3. % F vector —»R»

4. % F vector —0

Question Number : 152 Question Id : 9277594171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ro ¥ TS ISR &5 Th oA g
Options :

1. ¥ F gfa%: R R »

2. % F YiAR—R ~R

3. % F YRR

4. % FgRAT—0

Question Number : 153 Question Id : 9277594172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the property of vector field?
Options :

1. # radial fields

2. # rotational fields

3. ¥ clectrical fields

4. % gradient field

Question Number : 153 Question Id : 9277594172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed & @ o5 a1 9w &= &1 U el 82

Options :



1. % B &
2. % Ui &
3. ¢ fagga &=

4. % [quIdT &

Question Number : 154 Question Id : 9277594173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not the property of double integrals?
Options :

1. ¥ commutativity

2. % area property

3. # linearity

4. % additivity

Question Number : 154 Question Id : 9277594173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®IF 1 fg-garhad &1 o gl 82
Options :

1. ¢ SPHAMHG

2. % g0

3. % gD

4. % grogdl

Question Number : 155 Question Id : 9277594174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The triple integral of a function f( x ) over a three dimensional solid w is written as

Options :
1. ® [[f.dv



2.« [ fdv

3. % [[[f.dv
4. % [wfdv

Question Number : 155 Question Id : 9277594174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% B 3 w & W T B f(x) BT BR[0T GHISH A & ¥u ¥ forar Sar g |
Options :

1. ® [[f.dv

2.« [ fdv

3. % [[[f.dv
4. % [wfdv

Question Number : 156 Question Id : 9277594175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Green's theorem relates a double integral over a region to a

Options :

1. # surface integral
2. ¥ line integral

3. % volume integral

4. # indefinite integral

Question Number : 156 Question Id : 9277594175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W U U &5 & GIgY GHIH A &) J GefId BT g |

Options :



1. % Tdg UG

2. ¢ 3G JHIGH A

3. % 3Igd- GHIH A
4. % HfAfAfrd gHIH T

Question Number : 157 Question Id : 9277594176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Green's theorem says that the total "microscopic circulation " in D is equal to the circulation around the boundary ¢ = dD
Options :

1. # Fds

2. % [Fds

3. [c F.ds

4. % | Fds

Question Number : 157 Question Id : 9277594176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W 7T Hgdl 8 b D pd "ger uRE=Ru HHT ¢ = dD b TRY 3R TRGIRI F IR &
Options :

1. # Fds

2. % [Fds

3.9 [cFds

4. % [ _Fds

Question Number : 158 Question Id : 9277594177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface integral of the curl of a function over a surface bounded by a closed surface is equal to the line integral of the particular vector
function around that surface is

Options :

1. % Green's theorem



2. % Stoke's theorem
3. #* Gauss's theorem

4. # Taylor's theorem

Question Number : 158 Question Id : 9277594177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ;ﬂ@@ﬂﬂ;@%ﬁﬂ@%%ﬁwmwmmwws & IRI SR faRY AR e & 1 JHIhd & SRR
|

Options :

1. % T HTURY
2. ¥ T UHT
3. % MY UAY
4. % TR YT

Question Number : 159 Question Id : 9277594178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface integral of a vector field A over a closed surface is equal to the volume integral of the divergence of a vector field A over the volume
(v) enclosed by the closed surface, is

Options :

1. # Green's theorem
2. % Stoke's theorem
3. % Gauss's theorem

4. % Taylor's theorem

Question Number : 159 Question Id : 9277594178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U d¢ (Fiive) Jdg W Al &3 A BT Y¥I HIH e, 66 (Filvs) Ide J RS 3 (v) b HWR Uh TG &7 A & faae & 3
T AT & RIeR T, I8 =

Options :




1. % T HTURY
2. % W gHg
3. ¢ T3 THY
4. % TR UHY

Question Number : 160 Question Id : 9277594179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not the property of Riemann integral?
Options :

1. ¥ Associativity

2. % Linearity

3. * monotonicity

4. % additivity

Question Number : 160 Question Id : 9277594179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I I A GHIG S BT 07 g 82
Options :

1. ¢ gl

2. % G

3. % Uopfatedr

4. % gyl
Discipline4
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Group Id : 92775996
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Group Minimum Duration : 0
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Break time : 0
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277594180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every continuous real - valued function on each closed bounded interval is
Options :

1. ¥ Riemann integrable
2. % upper Riemann integral
3. #* lower Riemann integral

4. % Riemann sums

Question Number : 161 Question Id : 9277594180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Id® §¢ (Flvs) NG SfaR1d IR Ude Idd dRdiddh-Jedd Ha- HGIE
Options :

1. ¢ U U A

2. % QR U JHIH A

3. % g M g o

4. % JAF TN

Question Number : 162 Question Id : 9277594181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suppose a closed interval [ a, b ] € R . The partition of this interval is said to be a sequence of the following form:

Options :

1. % a=x0+ X1 +X2 -~————-- X
2. % g =X < X1 <Xo<-mmmmmm Xn
3. ® a=Xo> Xz >-mmmmmmmmm Xn
4. ® 3 =xXo- X1 +---mmmmmm- Xn

Question Number : 162 Question Id : 9277594181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H 3 fob T 9 (aalies) 3IdTd [a,b ] € R B | 3 R & fAUTSH o1 FRUfeiRad U &1 U6 8 Hel 91l 6:
Options :

1. ¥ a=xXo+ X1 +Xa -—------ Xy
2. ¥ a=Xo < X1 <Xo<------- X
3. ® a=xXo>Xo >-mmmmemmee Xn
4. % a=Xo- X1 Fommmmmmen Xy

Question Number : 163 Question Id : 9277594182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If either limit of a definite integral is infinite or if the integrand is infinite anywhere inside the range of integration , the integral is said to be




Options :

1. #* proper integral

2. % improper integral

3. # lower Riemann integral

4. % upper Riemann integral

Question Number : 163 Question Id : 9277594182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fpadt fad TaTma &1 T 3Fd § 1 JHIH A Bt WA & HiaR Bt W TS 3Fd §, d IHTh - B CRSIRIG
Options :

1. % IfId gHIH AT

2.  3fId JHID A

3. % g 9 IHIG A

4. % R JAE FHIH A

Question Number : 164 Question Id : 9277594183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of improper integral

[Tae™dx
Options :
1. %2
2.%0
3.9 1

4. % -]

Question Number : 164 Question Id : 9277594183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I THIG A BT A 1T B
[Tae™dx

Options :

1. %2

2. %0

3.¢ 1

4. %

Question Number : 165 Question Id : 9277594184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series of functions of form

£ 1]
S n=laI|{x a} is called a

Options :

1. # Weierstrass criterion
2. ¥ power series

3. % alternating series

4. # uniform convergence

Question Number : 165 Question Id : 9277594184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S n=13n(X-2)"% & % o 1 U ST B! CaASIGI
Options :

]. % G AHES

2. ¥ ©1d 907

3. % gradl 9oft
4. % THGHM SHTHERT



Question Number : 166 Question Id : 9277594185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let W cc be a domain and suppose {fn} is a sequence of analytic functions on W to f, then f is analytic on

Options :

1. ® ¢

2.9 W

3. % cand W
4. = f,

Question Number : 166 Question Id : 9277594185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A P W cc T THEeT § IR AF & fF (), W I f TR IRANS B &I 3HpH T, dl £ R IS
Options :

1. % ¢

2.9 W

3. % c 3R W

4. = f,

Question Number : 167 Question Id : 9277594186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sequence of functions is a sequence with functions as elements . Fn: D — R is defined on set

Options :

l.¥DCR
2. % DcR
3. RcD
4. % DN R

Question Number : 167 Question Id : 9277594186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

B 1 U 3HH UlerHc & &4 T e & 1Y Th 3P § | Fn: D — R &I 9G4 R R fpam T B
Options :

l.¥DCR

2. % DcR

3. RcD

4. % DN R

Question Number : 168 Question Id : 9277594187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the power series representation for the following function-

g(x)=1/(1+x3)
Options :
g{K} = Eﬁn?l { -1 }ﬂ x*"

1. =

S % 80 =3 ol 1)
3. % o(x)=0

g8(X) = Zno [(x)7)°
4.

Question Number : 168 Question Id : 9277594187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad we o fore ard guft fFReuor J1d H1-
g(x) =1 (1+x)

Options :



g[K} = zﬁnﬂ { -1 }n x3"
1. #

) ® g(x) =3 n-o(-1)"
3. % gx)=0

80 = Zn=o [(%) 7]
4.

Question Number : 169 Question Id : 9277594188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bounded function f:(a,b) —R is Riemann integrable if and only if for every € > 0 there exist a partition P [a,b] which may depend on € ,
such that )

Options :

1. ¥ u(f;p) - L(fP) <€
2. # u(f;P) > L(f;P)

3. % u(f;P)-L(fP)>€
4. % u(f;P) - L(£P)=0

Question Number : 169 Question Id : 9277594188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%&aaw:rfz(a,b) —R A YA € IS 3R Had afe Tdd €> 0 P I T fGUTSH P [a,b] HINIE & S € R AR 81 91 8, S e
|

Options :

1. ¥ u(f;p) - L(f;P ) <€
2. % u(f;P) > L(f;P)

3. % u(f:P)-L(fP)>€
4. % u(f;P) - L(f;P)=0



Question Number : 170 Question Id : 9277594189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which property is not satisfied by metric space?
Options :

1. #* non- negativeness

2. ¥ identification

3. % monotonicity

4. ¥ symmetry

Question Number : 170 Question Id : 9277594189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 101 Afees WY gRT TGP T8l 82
Options :

1. % IR-BUTHDBA

2. % Ugdld

3. % Uopfatedr

4. % gAAT

Question Number : 171 Question Id : 9277594190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If there is at least one geodesic path between every pair of points in x. Then (x , d ) is called

Options :

1. #* path length

2. % geodesic space

3. % geodesic segment

4. % Brownian bridge



Question Number : 171 Question Id : 9277594190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe x 7 fifg & IS 1 & o1 gAdH U aefis yy 81 dl (x, d ) Bl HET ST |
Options :

1. % UY &l daTg

2. ¢ forars e Wy

3. % foRreRys ¥

4. % SI3Fg foret

Question Number : 172 Question Id : 9277594191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which topology is called the metric topology induced by d?
Options :

1. % {B(x,€)Xex ,€ >0}

{By(x,E)|XEX,€>0)
2.9

{(x4,€) | x,€>0}

3. %

4. ® {{xd rE]KrE}O}

Question Number : 172 Question Id : 9277594191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fob e RUTATARIT (CTuTerioit) Y d GRTURA Afdes CIarairsit Bl Sl 82
Options :

1. % {B(x,€)Xex ,€ >0}



{By(x,E)|XEX, €50}
2.

o (€) Ix, €20}

4. 8 {{xd ,E]K,E:‘-’U}

Question Number : 173 Question Id : 9277594192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let X be a topological space. Which of the following condition does not hold?
Options :

1. # ¢ and X are closed

2. % finite unions of closed sets are closed .

3. ¥ finite unions of closed sets are not closed .

4. # arbitrary intersections of closed set are closed.

Question Number : 173 Question Id : 9277594192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o & X Fifufae (@iarorea) WY ¢ | Fafaied # 3 o 9 fRufa yror 78 srar g2
Options :

1. % ¢ 3R X §¢ (FiwS) &

2. % §g (FIve) Tg=dl & URMHT g §g (Fee) g

3. ¢ 9 (FeS) Tdl & URId gfa- §¢ (Fies) T8l 8id g |

4. % §g (FIvs) U & THUey Ufdwsed §¢ (Fdes) g

Question Number : 174 Question Id : 9277594193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Let X=R?and d : X x x — R is defined by d [ ( x1 ,x2) ('y1, y2 ) ]%2. Then points inside the circle centred at
Options :

1.*(1,0)

2.9 (0,0)

3.%(2,0)

4.% (1,1)

Question Number : 174 Question Id : 9277594193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AP X =R2 3R d: X xx > RBTA[ (%1 %) (y1,v2) 1% GRTIRHIG fpar man 1 fpR 91 & 3 & foig W FHEITIZI
Options :

l.#%(1,0)

2.%(0,0)

3.%(2,0)

4.% (1,1)

Question Number : 175 Question Id : 9277594194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function from one metric space to another f: A — B is continuous at p if for all € > 0, there exist 0 > 0 such that
Options :

1. ¥ d(x,p) <0

2. % dx,p)=0

3. % dx,p) >0

4. % dx,p)=1

Question Number : 175 Question Id : 9277594194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A WH I R A TH Ba £: A — B, p R IRAR B 3 T+t € > 0 F Y, 6> 0 39 UHR AN[E 8l fb



Options :

1. ¥ d(x,p) <0
2. % dx,p)=0
3. % dx,p) >0
4. % d(x,p)=1

Question Number : 176 Question Id : 9277594195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A function f: A— B is continuous if and only if

Options :

1. % Gis closed
2. % G is open
3.G=0

4. ® f(G)is closed

Question Number : 176 Question Id : 9277594195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bol : A— B FRAR B afe 3R Faa afe
Options :

1. % G U (@@eS) 7

2. G I (3T B

3. G=0

4. % fG) ¥ (FASS) §

Question Number : 177 Question Id : 9277594196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function f: A— B between two metric spaces is uniformly continuous on A if for all € >0 there exist 0:
Options :

1.¥dx,y)<o



2. % d(xy)>0
3. % d(x,y)=0
4. % d(x,y)=0

Question Number : 177 Question Id : 9277594196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Afee WY & S U B £: Ao B, A R JAH 0 J FRR T gl Tft € >0 & fow o A g ©:
Options :

1.¥dx,y)<d

2. % d(xy)>0

3. % d(x,y)=0

4, % d(x,y)=0

Question Number : 178 Question Id : 9277594197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a finite subcover of s is contained in each open cover of any set S , then S is called
Options :

1. ¥ compact set
2. % empty set

3. % equivalent set
4. *# finite set

Question Number : 178 Question Id : 9277594197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fordf T s & U G (30 R A s BT URTG Iu-waR fAfgd g, At s HI HEI ST |

Options :
1. ¥ "ga dc
2. % Rod gy




3. % gADE A
4. % URMT 9g=g

Question Number : 179 Question Id : 9277594198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every open cover of a closed and bounded subset S of real numbers contains a finite subcover of S, i.e. , every closed and bounded subset of R is
compact, is known as

Options :

1. # Fundamental theorem
2. % De Moivre's theorem
3. ®* Four squares theorem

4. % Heine- burel theorem

Question Number : 179 Question Id : 9277594198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRafas GRS & d¢ (Fees) 3R UREG STTHET S & U Jd (3N) e 7 S HT IR IU-HaR g1d 8, 3Hufd, R BT IS s
@FIe) 3R TR ST ¥ed gl g, ford & = | ST oTaT g

Options :

1. % gayd uHg

2. % GHIER YT

3. % IR I UAY

4. ¢ BT IRA YHY

Question Number : 180 Question Id : 9277594199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following condition is correct for a mapping f : G— G is called automorphism of G is

Options :
1. % f(a,b) = f(b)
2. % fis a bijection



3. % fa,b)=0
4. * f(b,a) =f(a)

Question Number : 180 Question Id : 9277594199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed & 9 o A Rufa ufafemu £: G- G & o a8t 8 o 6 &1 siieIHifthaw sg1 S , 2l
Options :

1. #® f(a,b ) =1(b)

2. ¢ fgafauaTu g

3. % fa,b)=0

4. % f(b,a) =f(a)
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Question Number : 181 Question Id : 9277594200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a group G, the mapping f: G— G, defined by f(x) = x™! for every XeG is an automorphism if G is
Options :

1. # cyclic
2. % abelian
3. # alternating

4. # gsporadic

Question Number : 181 Question Id : 9277594200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TE G H, TP XeG & AW fix) = x gRIIRUING gfafmmr £ 6— G, @WeiRarg afg G gl
Options :

1. % Iy

2. ¢ 3dferad

3. % gradr

4. % WRS®H

Question Number : 182 Question Id : 9277594201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A, B cXand A x B =X, then we say that X is

Options :




1. ¥ an external direct product
2. % an internal direct product
3. % antisymmetric product

4. ¥ cartesian product

Question Number : 182 Question Id : 9277594201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA . BCX 3R A xB=X, dIgHPEd 8 b X gl
Options :

1. ¢ Ueh ITe™1 Y&l 0

2. % T 3R Y& J0H

3. % HmAcS uH

4. % PHIAE TOH

Question Number : 183 Question Id : 9277594202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the correct option for internal direct product?
Options :

1.¥ Hi,, H. cG

2. % KaxZs

3. % Ssx Za

4. % H,c Hz

Question Number : 183 Question Id : 9277594202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF I TARD Tef TOAHd o o Tg fadwed &2
Options :

1.+ H, H> cG




2. % KuxZs
3. % S3x Z4
4, % Hi c Hx

Question Number : 184 Question Id : 9277594203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the property of external direct product?
Options :

1. ¥ (a,b )&( G1 X G2)

2. % |Gi x G| =| Gi|. |G

3. % (e, ¢") is identity element of G1 * G2

4. % (a,b)€GI x G2

Question Number : 184 Question Id : 9277594203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T ST Tde UM% b1 T[0T Tl 82
Options :

1. ¥ (a,b )&( G1 X G2)

2. % |Gi x G| =| Gi. |G

3. % (e,¢"), Gi * G, BT Uga Uferde 8
4. % (a,b)€G: x G2

Question Number : 185 Question Id : 9277594204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every finite group G can be embedded in a symmetric group is

Options :
1. ¥ Cayley theorem

2. % Taylor's theorem



3. ¥ Green's theorem

4. # Gauss divergence theorem

Question Number : 185 Question Id : 9277594204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR 948 G &) gaftd THg # IR fhar o g 8, 98 g
Options :

1. ¢ il URg

2. % SR UAY

3. % Y yAY

4. % T3 fa<re gHy

Question Number : 186 Question Id : 9277594205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is not correct when H acts on G by left multiplication?
Options :

1. ¥ there are no fixed points ( if H# G).

2. % the orbits are the right H- cosets.

3. ® staba={h:ha=a} = {e} is trivial.

4. ® there are no fixed points { if [H] > 1}

Question Number : 186 Question Id : 9277594205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Od H, G TR T4 T[0T dRcb BT Rl g, ) DI I HYF Tal el 82
Options :

1. ¥ B A% foig 761 8 (@E H£ G) |

2. % BT 917 H-DHIRIC &

3. % staba={h:ha=a}= {C}W%|




4. % Pg Yy foig & § @fe > 1)

Question Number : 187 Question Id : 9277594206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let G be a finite group and P be a prime factor of |G|. Then some element of G has order P is
Options :

1. ¥ Cauchy theorem
2. # Cayley theorem
3. % Taylor's theorem

4. % Green's theorem

Question Number : 187 Question Id : 9277594206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o o G T U THg § 3R P, |G| BT ST UFES ¢ 1 41 G & $S Ui A HHA P &, T8 gl
Options :

1. ¥ DRI

2. % il JHY

3. % SR UG

4. % P ST YHY

Question Number : 188 Question Id : 9277594207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a finite group of order n = p*m, where p is a prime and p does not divide m. A subgroup H of order p* is called
Options :

1. % P- group

2. # normal subgroup

3. ¥ sylow P-subgroup
4. ¥ simple subgroup



Question Number : 188 Question Id : 9277594207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
m%ﬁmmn:pmwwqﬁlﬁaﬂ%%ﬂﬁpwa{mﬂ%ﬁ?p,maﬁwqﬁm%kaaswsqﬂﬂ;s'ﬂﬁ G|
NIGIE

Options :

1. ¥ p-Hig

2. ® HHY 3UdHe

3. ¢ Tyl P-3UHg

4. % I U

Question Number : 189 Question Id : 9277594208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let G be a finite group and G has only two normal subgroups {e} and G itself then it is a
Options :

1. # normal P- subgroup
2. ® P- group

3. % simple group

4. ¥ gylow P- subgroup

Question Number : 189 Question Id : 9277594208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o f G Uep IR THE § 3R G & $Had &l ITHI SUNHE § (e} 3R W4 G ol 98 Th gl
Options :

1. *= gH P- 3UTHg

2. % p-dg

3. ¢ HIYRU Jig

4. % f¥all p- IUAHg




Question Number : 190 Question Id : 9277594209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not the property of continuous function if f(z) and g(z) are continuous on a region A, then

Options :

1. # f(z) + g(z) is continuous on A .

2. % (z) - g(z) is continuous on A .

3. * f(z) g(z) is continuous on p.

4. ¥ f(z)/g(z) is continuous on A except at points where g(z) =0

Question Number : 190 Question Id : 9277594209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad @ 9 &9 91 9ad B &1 0 81 § 3lS f(z) 3R g(z) T 89 A W ARGR €, <l |
Options :

1. % AW f(z) + g(z) FRR B

2. ¥ AR (2) - o(2) FRRBI

3. % p R (z) g(z) FRR B

4. % AR (z) /o(z) FRIR 8 Ryara 37 gl &1 Srsa ol g(z) = 0

Teaching Methodology
Group Number : 11
Group Id : 92775998
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10

Is this Group for Examiner? : No



Teaching Methodology

Section Id : 927759114
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759136
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277594210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Collaborative projects of the methods of teaching will encourage which learning?
Options :

1. * Direct learning

2. ¥ Indirect learning

3. % primary learning

4. # secondary learning

Question Number : 191 Question Id : 9277594210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreror AfrY &) Tgarmers RIS f5g IfRTH & Mafed Bt

Options :

1. % ggef 3MfenTH
2. ¢ YA TRTH



3. % T SfeH
4. % IS SfATH

Question Number : 192 Question Id : 9277594211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Effectiveness of teaching has to be judged in terms of .
Options :

1. # Course coverage

2. % Students’ interest

3. ® Use of teaching aids in the classroom

4. ¥ efficiency of the candidate in securing good marks

Question Number : 192 Question Id : 9277594211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Ht gyERitaa & & ded F sfict o1 =i
Options :

1. % OT&dhY Haxol

2. % I P13

3. % HEN[E H RI&01 gD A o1 SUTRT

4. ¢ 3@ 3 U B H SHIGAR DI G&fdl

Question Number : 193 Question Id : 9277594212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a classroom , translanguaging may not involve which of the following ?
Options :

1. ® translating between languages

2. # comparing and being playful with different languages

3. ¥ using school language compulsorily in whole part of the activity



4. ® mixing words and expressions from different languages in the same spoken or written utterance

Question Number : 193 Question Id : 9277594212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BT H, aIE B (graehefe) & fFufafad & & o1 wnfire ¢t 8 awar g2
Options :

1. % HIYI37 & S Sfgdi

2. % fafist HTIaH & TTY T HAT SR W

3. ¢ T & QR YT o S1fHard U 9 fa=merd HTST &7 SUTNT BT

4. % Tep gl Sl o aret a1 foRad ol & faftrst el & rsal 3R yral &l firer

Question Number : 194 Question Id : 9277594213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a branch of learning or scholarly investigation that provides a structure for the students’ (program of study,) especially in the graduate
and post-graduate levels.

Options :

1. # Multi discipline

2. ¥ Academic Discipline

3. # Non academic discipline

4. ® Unitary discipline

Question Number : 194 Question Id : 9277594213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 1 fagaTquf Siie & e Rt § o BT (37600 BT HRIHH) o fog faRiy U I Jddh 3R Wadb R TRl § T Saql
UG BN g
Options :
1. % ggfayadmd
2. ¢ faereH fawy
3. % IR fagyro fawg




4. % THTHASD faereH

Question Number : 195 Question Id : 9277594214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some boys and girls are born with a condition called congenital adrenal hyperplasia (CAH),which cause them which of the following?
Options :

1. ¥ to have significantly higher levels of androgens than their non-affected peers

2. # to care less about their physical appearance than the others

3. # to avoid having girl or boy playmates; do not play games revolving around stereotypical feminine events

4. % to strongly influence girls to behave as though they were boys or vice versa.

Question Number : 195 Question Id : 9277594214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PO TSb AR TSfbal S 3ifigees Sifafdse @ied TgTe FTRWIRIT) T4 S 3R P 1Y Ual 81d 8, s HRU 74
fafeied & @ s gar |2

Options :

1. ¢ I TR-UUIFAT T Bt ga1 H TFold Bl TR B! 3w §

2. % IR B g H U IRING §1a¢ & IR & HH U8 HRHAl

3. % TS U1 ASP SISIGR & 1Y W J g9 & foIg; TRURS 01 gersif & -1 g a1 Wl 1 Qe

4. % TS(HT} B VYT HIER HRA P U 2@l I UHIA BT O fb 3 T 81 a1 59 fAudid|

Question Number : 196 Question Id : 9277594215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why do children tend to imitate and internalise what they see and then repeat those patterns in their own lives?
Options :

1. # Because they were taught that certain traits or activities are appropriate or inappropriate for them to engage
2. # Because they are strongly influenced by parental generations.

3. ¥ Because Children learn vicariously through their observation and imitation of what they see their primary caregivers are doing



4. % Because they more likely to take on those roles themselves as adults than are peers whose parents were less stereotyped.

Question Number : 196 Question Id : 9277594215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ol GTd g ITDT SIHRUT 3R HTARBHRUT 1 HRd § 3R {37 T HI 310 Shtad | Gl /2

Options :

1. % i I Raman war o1 o e weror o ifafafdmy 39 fore Saw g & fole Suged I Siuyed §

2. % Fifes 9 ATa-far & difedl & 9gad uvfaa g1

3. ¢ Fifs T 30 UTYTHG THUTADH ! B ol $& HIA ST §, IUP SfAdIDH AR SIHRUN & AT I T U I YRad §

3 % Fifeh d GG Al B qa-T & 34 UHBI3M B! GO%b] & =0 H Gg o o+ ! SIS JUTTAT G &, foTop ATdr-Ud v Sfgard]
|

Question Number : 197 Question Id : 9277594216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Language as a school Subject which is not Methodology of teaching ?
Options :

1. #® Teacher oriented

2. % Form focused

3. ¥ Function oriented

4. ® Product oriented

Question Number : 197 Question Id : 9277594216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty & Ue faenard fawa & wu & o1 o fRieror &1 yomeht fagm w1 32
Options :

1. % frarep 3@

2. % UUF diad

3. ¢ U 39



4. % IATE I

Question Number : 198 Question Id : 9277594217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which knowledge is dependent on experience or empirical evidence, as with most aspects of science and personal knowledge?
Options :

1. # Practitioner knowledge

2. # Priori Knowledge

3. % Posteriori Knowledge

4. ¥ Communicating knowledge

Question Number : 198 Question Id : 9277594217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R SR AfadTTd I & SIIHIRT ugqell B1 aRE, B AT JH ST T SFTHTRT e IR F1iR g2
Options :

1. % SRt

2. % YIYfAehdT I

3. ¢ Y (UG’ I

4, % JME BT YIR HIA]

Question Number : 199 Question Id : 9277594218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

involves students
providing feedback to other students on the quality of their work.

Options :

1. # Self-assessment

2. ¥ Peer assessment

3. # Collaborative assessment

4. ® Group assessment



Question Number : 199 Question Id : 9277594218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W3 Bl B 37 BT B UG R Ulfhar Ue R drel O T 3
Options :

1. # HlH-H[hlq

2. ¥ JHDE 3Hhcl

3. % YGUNTEHD SHTherT

4. % YHg 3hd-

Question Number : 200 Question Id : 9277594219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The RTE Act provides for the right of children to free and compulsory education to the children of years age group including children with
special needs.

Options :

1.¥ 6to 14
2. % 3t014
3.% 6t0 18
4. % 31018

Question Number : 200 Question Id : 9277594219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTE W fOQy sraxgsdi ad o=l Ofed 9 Sy &l & =l o) U 3iR SfAard e & a=di & IfIeR &1 Uae™= w1 g |
Options :

1.¥ 6914

2. %3914

3. % 6318

4. % 3918




